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Proverb on title page:
Drop by drop is how the river overflows.

This is the same way that the student will learn Tamazight.
Step-by-step, patient perseverance and steady work will produce results.
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Introductory Note

This book is the Intermediate 2 Workbook for the Tamazight (Middle Atlas or
Central Moroccan Berber) course called Abrid. The course has four levels: Abrid ]
(Beginning Tamazight), 4brid 2 (Intermediate 1 Tamazight), Abrid 3 (Intermediate 2
Tamazight), and Abrid 4 (Advanced Tamazight). Each level has a Student Book and a
Workbook. (A Teacher's Manual for each level also exists to give pedagogical
instruction on how to teach the course.) Each level consists of about 25 lessons, which
are timed to comprise about 40 one-and-a-half-hour sessions with a teacher.

The Workbook is not an obligatory part of the course, but I believe that you, the
student, will find it useful and that most of you will be motivated to use much of it. It is
my hope that teachers will also find the material a useful addition to the course. The
contents consist of two main items: supplementary material and review exercises. The
supplementary material is meant to be used at the discretion of the teacher in class. There
may not be time to do everything in class; hence, the reason the material isn't obligatory.
Even if the teacher doesn't use the material, it is available for you to use at home.
Secondly, the review exercises are designed to give you more opportunities to go over the
items you learned in class. Some people can't handle a lot of homework (and some
homework is already built into the course apart from the Workbook), so, again, these
items aren't obligatory but may be used by the teacher as homework or as class exercises
or simply left to you to do at your leisure. Not every lesson has supplementary material
or review exercises. Much depends on the amount of content the lesson already contains
and the purpose of the lesson. In addition to the Workbook, many drills are done in class.
You can do—and are advised to do—these very same drills outside of class on your own
or with a language helper.

The answer key is included in the back of the Workbook for the review exercises.
Of course, it is best if you work through the exercises without looking at the answers
until after you've finished.

As much effort as possible has been put into making this book error free, but that
is a formidable goal. Any corrections and suggestions are welcome.

Bruce Rathbun
October, 2004
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Supplementary Material Lesson 1
(to be used after the vocabulary section of lesson 1)

1. Text. Listen and repeat, and answer the questions that follow the text. Use
the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.008, side B

The speaker is from Jloe @by (Ayt 'Ayyash). There may be some variations to
what you learned in class.

Text 6
Marriage Customs
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" The phrase J s i Ay means "o reach marrying age."

* Taifi's dictionary lists this word as &W)—3 | with a shedda on the final < , and the speaker is saying
precisely that. Notice numerous times throughout the tape the shedda on this < .

? Both 255 and 225 are valid pronunciations.

*In order to pronounce the three consonants together of the dependent form here, a short vowel is added to

make U5, Although written like this it looks like the independent form, the difference in
pronunciation is that the independent form sounds like "tar" and the dependent form sounds like "ter." For
consistency's sake, we will write the dependent form with a sukun.

® Others pronounce this word as =3, The & is pronounced like a s .
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Expressions:

"is pleasing" — U
This form is a present participle. We won't cover these
until Abrid 4. For now just learn this as an expression.

They (m.) choose for him  — Ui Y
He says to them (m.)  — Lri—,\—'il Oy

We won't cover this in detail until lesson 13, but these are examples of moveable
indirect object pronouns used with the present continuous tense. The rule is that the direct

and indirect object pronouns move to between the tense indicator 2 (or in this case J )
and the verb.

® This form here is the simple imperative stem plus the regular conjugation suffixes for the third person
masculine plural: "when they have eaten and have drunk...." There are regional variations in some of the

conjugation patterns. From the pattern we have learned, we would expect: (s~ (=i . This is the

simple imperative verb stem plus ( . However, the dialect used in this text adds (» instead of just O
after a consonant.

” This comes from dw=2 (3 J2¢1. The O assimilates into the J to form J.
® This form here is the simple imperative stem plus the regular conjugation prefix and suffix for the second
person masculine plural: "you (m.pl.) give." Just as in footnote 5, from the conjugation patterns we have

learned, we would expect: e—ﬂ—" This is the simple imperative stem (% plus ... However, the
dialect used in this text adds g2 instead of just @ after a consonant.

? Taifi's dictionary lists this word as (3la—w | with a U, even though the Arabic origin of this word has a
&

' The structure "verb + 31 + 385 " means "in order to ...." There are a number of regional variations
to say "in order to." Others include "verb + 21 + 45" and "verb + 27 + Lia v

"' Both 3) and 2] are valid pronunciations.

£ < °
215 comes from S| (gle. The phrase reads "They do what is/does good so that...."
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Questions on Text 6
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P Or Usicis . Theword —=—xs is followed here by & 1. Although often the s drops out before the
present continuous tense, it is clearly said in this case.
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New Vocabulary Found in Text 6

Verbs'*
so and so OS4 to reach, arrive (< gL} o)
custom, habit lalz1 tochoose _dasa s jla’s

Dt- -~ o ’;F - o
dates P to please latz 3 (aln'e
henna Ll to mutually agree Laleta Lulia’s
dowry Glh—a to demand, ask =~ ) §— s 3 g
conditions U g i to eat e By
condition U )—wﬁi to get a wedding ELA—E-—'i &-—'-'-—ﬁ
license from the judge
judge (;mu—‘ to slaughter | (» _}—-“- g
wedding | J—*»—A—‘ to harvest h—"é.—*é—"' ‘—‘-:,3—»\-4
summer crops
. 1 °s 7 - LR - o
slaughtered animals 7u-““)—’—ﬂ—,-' to be happy C‘)—‘—’ c
sheep killed in sacrifice

slaughtered animal Glig y 2o Nouns
Berber dance Qe saaa custom lacla]
boy o
marriage Jds )
parents d—e—‘

" The verbs here are listed first in their simple imperative form, then in their continuous imperative form
(which the tape calls the "iterative"). The forms here are imperatives (commands), but we've listed the
English as the infinitive. There is no Tamazight equivalent to the English infinitive.

'3 Another continuous imperative form is apparently <«+>"2_% which is the form used in the text. Taifi's
dictionary lists the continuous imperative as ta—x—

'° There are a number of variations for this verb. Another continuous imperative form is Wi’

'" Because the ¢ is said with rounded lips, the word sounds like () y=x—ai .

12



Particles

when'? Zj‘ 37
other 200—}—'\;-2;,3

if*! Jia

in order to alals

English Translation of Text 6 and the Questions

Text
Wedding

According to Berber custom, when a boy has reached marrying age, his parents
choose for him a girl that is pleasing to him. Or he himself says to them, "I want [or:
like/love] the daughter of so and so or the one of so and so0." When the boy and his
parents have agreed about the girl, his father and his mother and other people go to ask
for the girl from her parents.

It's the practice (that) they take sugar and dates and henna to the girl's parents.
When they have eaten and drunk, the boy's parents say to the girl's parents, "Oh, my dear
ones, we want you to give (us) your daughter to our son." They agree on the dowry and
other conditions. If they agree, the boy and the girl and their parents go to the judge in
order to get the marriage license.

As for the wedding itself or the celebration [lit: "the happiness"], they do it in the
summer when people have harvested [that is, finished the summer grain harvest]. They
slaughter a sheep [lit: They slaughter an animal intended for slaughter.], they dance [lit:
They do the "ahidus," a type of Berber dance.], and they do what is/does good™ so that
the people rejoice.

'8 This word is for "or" used in statements, not questions. In questions, the word for "or" is s

' This word is not the question word "When?" That word in Tamazight is either Ui a or Q,—ﬂ—‘—..\-ﬂ .
The word ¢5! 37 is used only with the present, future, or continuous tenses. The past tense uses <l for
"when."

20 A synonym to this word is (—=—. Some speakers will use both words. There is no difference in
meaning.

*! This is "if" used in real conditions. The word for "if" for unreal or hypothetical conditions is _— .

2 The word =31 can mean "a favor" or "favors" or "good things." It's possible to translate the phrase
"They give a good party so that the people rejoice." The word "good" seems to include both good things
that people like as well as good and proper service. It's both fun and appropriate to custom.

13



Questions

1. What does the boy say to his parents when he wants to marry?
When the boy wants to marry he says to his parents, "I want [or: like/love] the
daughter of so and so or the one of so and so."

2. What do his parents do when they have agreed on the girl?
They go to the girl's parents.

;) What do they take when they go to the girl's parents?
They take sugar and dates and henna.

4. What do the boy's parents say to the girl's parents?
They say to them, "Oh, my dear ones, we want you to give (us) your daughter to
our son."

5. If the boy's parents and the girl's parents agree, what do they do?

They go to the judge to get the marriage license.

6. When do they do the wedding?
They do the wedding in the summer.

7. What do they do for the wedding?
They slaughter a sheep [lit: They slaughter an animal intended for
slaughter.], they dance [lit: They do the "akidus," a type of Berber dance.]
and they do what is/does good.

2

2. More questions and answers. Answer the questions that relate to the
previous text. Use the tape and the text that follows.

Dialogue Based on Text 6

Questions and answers in the past tense (which the tape calls the "perfect" tense)

Although the tape calls this a dialogue, it is really questions and answers about
what happened to Haddou when he reached marrying age. All the questions and answers
are in the past tense. Thus, this takes text 6 (a general statement of marriage customs)
and applies it to a particular case: what Haddou and his family did, assuming they did
exactly what text 6 describes.
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2 This word here means "then," "next," or "after that." In other contexts it means "again." It can be
pronounced either Z=> or A= , depending on the dialect.
*The & is pronounced like a ¢ here.

** When the verb &3 is conjugated in the past, the stem changes to &3] . Thus, the plural "they took"

would be U=5] . But to prevent two vowel sounds from coming together (because of the aliph in ), a

"y" sound is added to form (=5 .
%® This is the word for "when" used in past tense sentences.
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% This form comes from O\S + ¢ |. The & is pronounced like a 5 . In past tense questions ‘;—A—l—)—‘

is always followed by L;l .



English Translation of the Dialogue

Dialogue
Haddou reached the age of marrying.
1. What did Haddou do then?
His parents chose for him a nice/pretty girl.
2. What did his parents do then?
His father and his mother and other people went to the girl's parents.
3. What did Haddou's parents say to the girl's parents?
They said to them, "Oh, my dear ones, we want you to give (us) your daughter to
our son."
4. What did Haddou's parents take when they went to the girl's parents?
They took them sugar and dates and henna.
3. Did they agree on the dowry and other conditions?
Yes, they agreed.
6. Where did Haddou and the girl and their parents go when they had” agreed?
They went to the judge to get the marriage license.
7. Why?
In order to get the marriage license.
8. Did they do the wedding or not yet? [lit: or did they still? "Still" is a conjugated
verb in Tamazight. |
Yes, they did the wedding.
9 When did they do the wedding?
In the summer when people had finished the harvest.
10.  What did they do at the wedding?
They slaughtered a sheep [lit: They slaughtered an animal intended for
slaughter.]
11.  What did they also do?

They danced [lit: They did the "ahidus," a type of Berber dance.], and they
did what is/does good like the custom.

* Often the more complex tenses of English (like the past perfect used in this translation) don't have exact
equivalents in Tamazight. It is the context which shows that one action happened before another in the
past. Thus, the verb in Tamazight that this verb translates is simply in the past.

17



Abrid 3, Lesson 1 1 w33 a0
Review Exercises Lesson 1

1. Write out the full conjugation patterns.

L".°AJJ'\°"'(°"\ ‘511”;,,"&"’1 UJDJ—'—' ‘fl_“.a; I need

you (m.s.) need

you (f.s.) need

he needs

she needs

we need

you (m.pl.) need

you (f.pl.) need

they (m.) need
they (f.) need

sl D 1 C

I need

you (m.s.) need

you (f.s.) need

he needs

she needs

we need

you (m.pl.) need

you (f.pl.) need

they (m.) need
they (f.) need




2.

Answer the questions with full sentences.

sl @ lhata) il

?(" K| A ! 3‘_.{); ! O\ A ‘ Sl
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Abrid 3, Lesson 2 2 D33 |

Supplementary Material Lesson 2
(to be used any time during lesson 2)

1. Some Tamazight proverbs'

You should understand the words, grammar, and structure of the proverb; learn its
meaning; learn appropriate situations in which to use it; and memorize it. Your teacher
or a language helper can explain the meanings.

Flies don't get in [lit: enter] R M O‘Jl O i €3 5 A
the salt.

The honest man is pure like salt and resists attempts to corrupt him.

The mouth which is closed, Js c08) W s8] B
flies do not enter [it]. D) Ol S 2

It's better to be quiet because when you speak, out of your mouth can come unfortunate
words which can bring about harmful consequences (flies).

[The word bﬁ | is a participle. The participle form is used after the relative pronoun

i
A one-handed man doesn't clap. STy L)-USJT 0% .C

This proverb urges people to help each other. A father of a large family who is
reproached for not providing well for his household can cite this proverb to show that he
is the only one working to feed everybody and that if one of his children would work,
things would go a lot better.

Be a wolf (and/so that) Oy olann i, omdy 4 p
the wolves won't eat you.

' Proverbs A through E are taken from Cours de Berbére Marocain: _dialecte du Maroc Central by E.
Laoust, 1939: A, p. 285 (#55); B, p. 286 (#78); C, p. 286 (#100); D, p. 286 (#98); E, p. 285 (#51). The
explanations of proverbs A through E as well as proverbs F through I and their explanations come from
Proverbes Berbéres by Fernand Bentolila, 1993, L'Harmattan—Awal. The translation and explanation of
the proverbs given here are my English translations of what Bentolila originally said in French. The
following are the page numbers from where the proverbs and explanations were taken: A, p. 126 (#55); B,
p. 124 (#46); C, p. 151 (#9); D, p. 136 (#8); E, p. 21 (#29); F, p. 148 (#16); G, p. 124 (#43); H, p. 125
(#50); I, p. 142 (#5); 1, p. 147 (#10). Anything in brackets are my additions.

20



[You must be strong to defend yourself against others who are strong. Meet toughness

with toughness.]
A hen doesn't lay (eggs) Ciimg ™ g L90  H E
in the midst of people. O3 zls

You say this proverb when you don't want to respond to an indiscreet question in front of
strangers.

Fire leaves only ashes. At ) le el LBy 55 F

Violence doesn't solve problems; to the contrary, it can make matters worse.

Only the mule denies LP‘L‘—L‘-“J _)ts—‘:‘-—) LY G
o 2.0 e
his origins. U )

To increase his standing the mule says he's the son of a mare and disowns the donkey, his
father. For Berber society, each person should be proud of his origins.

It's only the dead O] el BWLLWTENHY 5,0
who are quiet.

[lit: He is not quiet except the dead person, that is, it's only a dead person who is quiet.]
Those who are reproached for talking too much or those who are told to be quiet can say
this proverb to show their right to speak.

He who has only one eye b o Ggole WS e Wy 1
doesn't sleep in the straw. .e;\l‘_j & s | SE

A piece of straw can poke your eye out. This proverb is said to advise someone who has
only one source of revenue not to put it at risk.

Legsdon'tholdup  .Us=] sl Ooba) gulSy J
an empty stomach.

The stomach nourishes the legs which in turn hold it up along with the rest of the body.
This complementarity disappears when the stomach is empty because the legs weaken
and can no longer perform their function! Things go better when they are based on
reciprocity.

* Although this word is the subject of the verb, because it comes after (sl& many people will say the noun in
its independent form. This is a common construction in (l&... )3 proverbs. However, some people will use
the dependent form. Thus, both ways are possible. This also applies to the noun in proverb H.

21



Abrid 3, Lesson 2 2 w33 N
Review Exercises Lesson 2

1. Write the sentences in Tamazight.

They (m.) don't need meat.

We don't need salt.

You (f.pl.) don't need money.

She doesn't need a pen.

She doesn't need water.

You (m.pl.) don't need 2 houses.
They (f.) don't need 3 cars.

I don't need a camel.

You (f's.) don't need 2 wells.

He doesn't need a pink shirt.

We don't need D.S.L.

H R L . Do bbb o w >

The coffee doesn't need extra sugar.

2. Answer the questions with complete sentences.

?L'._‘J wo. o ‘w © W T ('ELI-H’!- .A

Tl Laty i) B

fluaag WHlan Watas i, o) C

foldy e sl D
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Abrid 3, Lesson 3

1.

304533 w0
Supplementary Material Lesson 3
(to be used at the end of lesson 3)

Dialogue

Adapted from the Peace Corps course, page 91
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Bob:

Moha:

Bob:

Moha:

Bob:

Moha:

English Translation of the Dialogue
Wedding

A friend invited me today to his daughter's wedding, but I don't know
what to take her [lit: what to take it to her].

Whatever you want. Us, we take sugar.

What should I wear?

Anything you like. [lit: Whatever pleases you.]

Should I stay until the wedding finishes?

You should stay until you eat dinner. The day of the wedding people eat
dinner late [lit: people are late (at eating) dinner].

24



2. Transform the dialogue so that Bob and Miriam are speaking, that is, change
the subject from "I" to "we."

o 3 Oy

3. Dialogue. Listen and repeat, and answer the questions that follow the
dialogue. Use the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.010, side B

The speaker is from Jile &yl (Ayt 'Ayyash). There may be some variations to
what you learned in class.

Dialogue 11

Future actions with aorist tense

What the tape calls the aorist tense are verb forms that use the simple imperative
stem as their base. Although the tape speaks here of future actions, the grammatical form
illustrated in the dialogue is used in numerous situations in the dialogue. These include
not just the future but what we've called generally the two-verbs-together format. The
forms all have in common the following structure:

<

simple imperative with regular conjugation + 2
prefixes and suffixes

25



Examples include:

the English infinitive:

"I want to build." L= &0

"He needs to buy...." T VL | B EUSAEN
the English subjunctive:

"May he be happy." CJ——‘—JM

"It is needful that he go." S| plla’sy
the English "so that" or "in order to":

"in order to buy..." H‘—.}JT Alals

"Go to the market to buy...." ... 3] (G & 33

the future tense:
"They will stay there." S g P

the first person plural imperative:
"Let's talk together." )b

A father and son plan to build a new house.

e wye

RS I P-S0NE 3 ROy PP

& Pu Bw & o Y2 o (. &8 W T w - o, . 2, . ©
(S 9 23 3 3
.H_J_c L..SJ_A_I J\..\_.\ () Iz N (=
o . - _a‘a

iy gl e

s &) A ;
J_" G J\A -Jii ‘f

! This form comes from ) stiea’s + 37 In this dialect the 2 drops out when it encounters the first

person plural conjugation prefix & . In other dialects and as we learned in this course (Abrid 2 Student

Book, pages 32-35), the > assimilates into the ¢ and the O is said with a shedda: — |

26
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Questions on Dialogue 11

Tl A Juatl 3] T s 1 Pk PR

TS S5 Y RS ISV R

b

? This form comes from s~ + & + 3§, The 2 drops out when it encounters the feminine direct

object pronoun &, There are some slight vowel modifications also in this case.
? There are many regional variations concerning the structures of prepositions of spatial relationships. We
will study these in lessons 4 and 5. (See page 25 of the Abrid 3 Student Book.) What we will learn is that

to say "behind the well" you put: s3's + 2785 | (The noun is in its dependent form.) However, some
dialects, like the one here, insert an () between the preposition and the noun. Furthermore, some dialects
then don't pronounce the O but instead assimilate it into the following 9 . (See Abrid I Student Book,
page 66.) This is why the 3 here is said with a shedda. :

* == is the action of building, a noun.

* This word is "who will...?" The word L "who" combines with ' - | which is one of the many
variants that can be used to indicate the future. For another example of this form see page 393 of Taifi's
dictionary under the listing "*ma." When a question word is the subject of a verb, the verb takes its
participle form, as is the case in the dialogue here.

® This form comes from () 5] + e . Thetwo s 's combine to form a hard (¥ . The verb is in its

participle form, since the question word is the subject of the verb: "Who spoke?" The final () assimilates
into the J to form J. In the answer the verb form comes from () J—ul + 1.
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7 This sounds like (J5-S .
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English Translation of Dialogue 11 and the Questions

Dialogue

A man: Sit down, my son, let's talk [lit: Let's consult together.].

His son: Okay.

A man: We are now numerous, and the house is too small for us. We
have to/need to/should build another one.

His son: Yes, it's true, what you say. Where do you want us to build it?

A man: There's a good place behind the well, next to the vegetable garden .

His son: Yes, that is a good place. When do you want us to start byilding [lit:
to start the action of building]?

A man: First, you need to go to the market to buy all that is needed for building.
When you come back, we will begin digging.

His son: Who will live in it?

A man: Just you and your wife and—if some guests come, they will stay there.

Questions

1. Who spoke first, was it the boy or his father?

It was his father who spoke first.

2. What did he say to his son?
He said to him, "Sit down, let's talk [lit: Let's consult together.]."

¥ This form comes from u—ﬁ + & o+ 37, literally "that they do it." The < is the third person masculine

singular direct object pronoun referring to the "what" of the question word. The 2 drops out because it
encounters a consonant as a direct object pronoun. A short vowel is inserted for pronunciation.

? This form comes from | & + ;51 "that will...." The & drops out.
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10.

Do they (m.) have a house?
Yes, they have.

Is the house too small for them (m.)?
Yes, it's too small for them.

Are the people numerous in the house?
Yes, they are numerous in it.

Why does the man want to build another house?
Because the house is too small for them, and the people in it are numerous.

Where does the man want to build the new house?
In a good place behind the well, next to the vegetable garden.

Will they start building [lit: the action of building] now or not yet?
No, not yet.

What do they (m.) need to do before they start to build? [lit: What is
needful for them (m.) that they do it before...?]

The boy needs to go to the market to buy everything that's needed for building.

Who will live in the new house, is it the man or his son or someone else?
His son and his wife will live in it. [lit: It's his son and his wife who/that
will live in it.]
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Abrid 3, Lesson 3 3 a3 aund
Review Exercises Lesson 3

1. Write the questions in Tamazight.

What do I need to do?

What do you (m.s.) need to do?
What do you (f.s.) need to do?
What does he need to do?
What does she need to do?
What do we need to do?

What do you (m.pl.) need to do?
What do you (f.pl.) need to do?
What do they (m.) need to do?
What do they (f.) need to do?

What does Ali need to do?

What does Fatima need to do?
What do Ali and Lhou need to do?
What do Aisha and Itto need to do?

oo mlkm b awk

—

7 2 = R o

2 Now give an answer to the above questions using a different verb for each
one. For each answer keep the subject the same as in the question (I, you, he, etc.).

om O wm Do w e

—
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3. Complete the sentences using the verb L-*GA
¢ sl 2K Q0 hila
¢ LL‘IO‘);A‘A_‘ Hdl _9:.3 ‘J| ufﬁ;a
¢Sl e g1 M 9__l=| 0 ia
¢ Sl S AN o)y Uia
¢ Ja (._::.Jo')_law’ﬁ ?\J:j ‘).u_aﬁf
¢ Juasay C’:. ey & Uha
¢ c_i_:_ULo.__\ o CJ;.LJHJ L_:._.a\) u".u_.o
c Al T ) G
P R P S| ﬁ"/i Ag‘):\ (}A....A:./
PR T B T Bk Y| Oy Ui
BTSSR TRNE
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Abrid 3, Lesson 4 4 033 30

Supplementary Material Lesson 4
(to be used any time during lesson 4)

1 8 Text. Listen and repeat, and answer the questions that follow the text. Use
the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.010, side A

The speaker is from Gle G (Ayt 'Ayyash). There may be some variations to
what you learned in class.

Text 8

Harvest
1 A, e
JA—A |

Oie 2 Uy 0350 3 mied ghe 8T Gyt &
O3 L8 1T 8 Gl UNla) SLamn o,y

w e

@31 0T T Al ey Pule @ra ) (sl el

l:\:} u.uLé e_..\_ri O_J_ull_:lj .J‘j;\ e WJJWJ}‘}—] JEJ ‘Jﬂ:)’(i .u!:. -

4 . »..‘ » % L:_\’i Jléu HJ’T W Ge Cw 'I .1 wa 0, L}uL.Q Lﬁ o, < ‘! = A '4i

! The word here is pronounced with a rounded, fricative "g." The word soundsﬁlike "amg"er" or even
"amwer." Taifi's dictionary lists this word as "sickle" and lists "harvest" as BlLaby "amgar." But the
speaker here lists _)—‘g—ﬂ as meaning both "harvest time" and "sickle."
% The preposition J—& means "to" in the context of movement. However, when the noun that follows it
starts with a vowel, some dialects add an "s": (& . Taifi's dictionary explains this on page 197.
*Both &= and &2 are valid pronunciations.
* The construction here is <™ + <& 4+ 3 meaning "in order that they ["Animals" is feminine
plural.] may eat it ["Straw" is masculine singular.]. The 2 drops out when it encounters a consonant as a
direct object pronoun. A short vowel is added for pronunciation between the first and second <.

There are regional variations in some of the conjugation patterns. From the pattern we have learned, we
would expect the form "that they (f)) eat" to be: <+"-%"3 | This is the simple imperative verb stem plus
&5 However, the dialect used in this text adds <233 instead of just <= after a consonant.
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Questions on Text 8

fadas 033) 03 THRLY T e

Do) v GrsriS Gl

> The construction here is the present continuous with a direct object pronoun <= "it" (masculine singular,

referring to the grain). The direct object pronoun comes between the tense indicator = and the verb. So
the meaning is "Some (of the grain), they sell it." The two following verbs have this same structure. On
the tape a short vowel is put right after the direct object pronoun in the first two cases, SO the words sound

like: O35 380 | LSS5 No short vowel is added for the third verb: & > & | This also
applies to the same words in question 8.

® Other regions use different present continuous stems for this verb. An alternative would

be um k_\_‘

7 The construction is "verb in the present continuous tense + &1 + q—n—‘e-n ." The « drops out

before the present continuous tense indicator £ Also, the vowel after the — is so short or non-existent
that the word sounds like S"< 37 "adamgger."
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New Vocabulary Found in Text 8

The simple imperative stem used in the Verbs®
third person masculine sinsular form’

He harvested. . )3—41 to harvest JS_.« JA_A

It is plentiful. Jie ) to be plentiful 9 1=
numerous

“ - ) 4oy

He hired. IR to catch, seize _)—41—-1

here: to hire

9dc

35T

® The verbs here are listed first in their simple imperative form, then in their continuous imperative form
(which the tape calls the "iterative"). The forms here are imperatives (commands), but we've listed the

English as the infinitive. There is no Tamazight equivalent to the English infinitive.

? The tape uses "perfect stem" for what we are calling the simple imperative form. The third masculine
singular forms that follow, when used by themselves, are past tense forms. But when they are used with

tense indicators, these forms can refer to the future, to two verbs together (like, "I want to go."), etc.

We

will translate with just the past tense here, although some descriptive verbs (or "stative" verbs) have a

present tense meaning.
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The simple imperative stem used in the Verbs
third person masculine singular form

He threshed. .U—’j_);-“/j tothresh 0l 5y “as gy

He winnowed. D0 30 ) to winnow | 0573390 008

He kept/hid/stored. . Jhl to keep, hide, store Pk Pa

He ate. wl to eat Wi’ ]

He kept/hid/stored. UJAJ to hide, keep, store O (A
Plural as subject Singular as subject Nouns

of theverb (s1]  of the verb )

RPSPY | harvest time or sickle A—A’i

There is harvest time.'?

O g Se Uy field, fields ) S| K|

There are fields. There is a field.
ey o T LJ! harvester(s) Q) s | J ed

There are harvesters. There is a harvester.
" Oﬂﬁm K:-.L:_.IU .ué_f;.! m Sheaf’ Sheaves Oajﬂi:! u:l

There are sheaves. There is a sheaf.
'(T.QJL l u ! grain (_,.5'3:';“ !

There is grain.

' This verb is listed in Taifi's dictionary on page 595 under the letters "RWT."

" Taifi's dictionary lists the continuous imperative as U3 )33— , but the speaker clearly says this word
without the initial = .

2 Some of these short sentences are artificial for the purpose of illustrating the noun in its dependent form

as the subject of the verb g_,-u "to be."
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Plural as subject Singular as subject Nouns
of theverb (+]  of the verb o |

.J‘)}{l o Do \J| threshing ground(s) V)] 3]
There are threshing ~ There is threshing
grounds. ground.

O _3J| o ol \—11 threshing(s) (O~ 9 | FSY

There are threshings.  There is threshing.  action of threshing

.e.-!-“j Lﬂl chaff, straw e:'”
There is straw.

e RCR O pitchfork(s) ) 3= eyl

There are pitchforks. There is a pitchfork.

Particles
some L
14\_-3
the one (m.) who... 9
when Z;‘ 3
in order to ks

"’ The pronunciation of this word should not be confused with <)) 33 "figs" and the way some dialects
pronounce a word for "pride" <yl 35

** The feminine singular of this is LS5 | the masculine plural ("the ones who") is Ly , and the feminine
plural is L8 |
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English Translation of Text 8 and the Questions

Text
Harvest

In summer people harvest barley and wheat. The one who has a lot of fields [lit:
the one to whom fields are numerous] hires harvesters to harvest for him. When people
have harvested, they take the sheaves of grain to the threshing grounds in order to thresh.
When they've finished the threshing, then they winnow with pitchforks. They take [or
carry, pick up] the chaff by itself, and they take [or carry, pick up] the grain by itself.
They store the chaff for the animals to eat in winter [lit: in order that the animals eat it in
winter]. As for the grain, some (of the grain) they sell it, some they eat it, and some they
keep it for seed.

Questions

I. When do people harvest wheat and barley?
People harvest wheat and barley in summer.

2. What does the one who has many fields do? [lit: What does he do, the one
to whom fields are numerous?]
He hires harvesters.

3. What do people do when they've harvested?
They take [or carry] the sheaves to the threshing grounds.

4. Why?
In order to thresh.

5. What do they do when they've threshed?
They winnow.

6. With what do they winnow?
With pitchforks.

7. What do they do with the chaff?
They store it for the animals to eat. [lit: in order that the animals eat it]

8. What do they do with the grain?
Some (of the grain) they sell it, some they eat it, and some they keep it for seed.
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Abrid 3, Lesson 5

Supplementary Material Lesson 5
(to be used at the end of lesson 5)

L Vocabulary and sample sentences.

Adapted from the Peace Corps course, pages 60-61

Usual places around the countryside

5 33 1Y

Where is ...?7 mani ...7 S .. @Lﬂ
Where is ...?7 manig illa ...? Ly &lal
village igrem o Oy
shop tazanut < j_al;_”n
window talkiut RPN
door tiflut Cgle s
tobacco shop ssaka KA
steam bath lzammam allaa’l
irrigation ditch targ“a &y
trough §§arij Z
river asif o |
spring ta¢ balut G | S
fields igran o )j |
fenced yard argbi ‘54A° J\
road abrid XN ,)—‘T
well anu _3-‘?
orchard urti Y
stone bridge isndaw la it
bridge lgendart PSR
mosque timzyida / ljame§ Hl:‘—‘ \ e
small street / passageway leglu el
shade amalu ‘9_\1_‘1
cave ifri s gy
hole (in the ground) azbus Y }L_{i
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grass lezsis IR
alfalfa Ifessa Uaa’d
a plain; large flat arca luta Wl
mountain / forest gari wsole
small path tabritt Ty e ™
Examples
Where is the irrigation mani targ*a? ¢ K P L“;'i\_,q

ditch?
It's near the fields.

tella tama n igran.

,Q\Js"’l s Ll 143

Where's the river?

It's in the middle of the figlds.

mani asif?

illa g wammas n igran.

faw] Sl

Where is the shop?

It's near the mosque.

mani tazanut?

tella tama n tmzyida.

ol Sk
.‘A:’:]D.a O O LA_:I ‘ Jl T

Where are the fields?

They are below the village.

mani igran?

llan ddaw i¢rem.

fUS) Sl
'e:)_n.f:’l Ao

Where is the tobacco shop?

It's at the entrance (gate) of
the village.

mani ssaka?

tella g imi n i¢rem.

f
PrE] O ) d LS

Where's Moha's house?

mani taddart n mugza?

ORI ape 0 €25 palITT G W0 50 5 o

% e

Lp—iald]

* 7. ]o -’S :‘5_‘ L,,,4‘9“)“9'=.a T

Follow the road (then) turn left. Moha's house is the first one on the street on your (fs.)

right.

Where is the stone bridge?

mani isndaw?

?i}‘.a.o ‘ ‘.“;.\LA

F

3T

‘ﬂab..‘ 01‘ * D.‘O
J.. J ) xul

A

Ola

wh < ace

) e gsd I

Go up a little towards the top. There is the stone bridge behind that tall tree.

40




Abrid 3, Lesson 5 5 03 3 AN
Review Exercises Lesson 5

1. Give various responses to the question ""Where is the pen?" The answers
will show where the pen is in relation to the table. Then say the same thing, but
referring to the table as a pronoun.

el

With Dk as a pronoun Mok o preposition
ol ) Sl o s U under A
o on B
o Sl on top of .C
i above .D
m—'—lﬂ next to E
e Bl beside F
Sk in front of .G
A behind  .H
e Nl in the middle of N
Sk at the side of J
2, Translate the phrases into Tamazight.

In the Abrid 3 Student Book you learned how to say "with me, with you, with him,
etc." (Student Book, page 23, in the middle). This can also mean "and me, and you, and
him, etc." You also learned how to say "between me, between you, between him, etc."
(Student Book, page 24, in the middle, and page 25, at the bottom left): the preposition

i g
Pu. du ) plus indirect object pronouns. Using this knowledge, translate the following
useful phrases into Tamazight.

Ay g KN between me and you (m.s.) A
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3. Referring to the picture
and using prepositions, answer
the questions.

oL gjl.q

fg s Ak

el e

between you (m.s.) and her

between us and them (m.)

between them (f.) and us

between you (m.pl.) and them (f.)

between him and you (f.pl.)

between them (m.) and her

between her and you (f.s.)

between you (f.s.) and me

between you (f.pl.) and them (f.)

w7 e

42
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4. Referring to the picture and using prepositions, answer the questions.

el U Aol g

fod e el Sl ]
featd 4 UL dile g
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Abrid 3, Lesson 6 6 L33 1,

Supplementary Material Lesson 6
(to be used at the end of lesson 6)

1. Drills reviewing direct and indirect object pronouns together.
Use the tape and the following texts that accompany the tape.
A. Listen and repeat.

Adapted from the University of Wisconsin course, tape TZ1.001.013, side A

The dialect used is from Uil—e 0y (Ayt 'Ayyash). There may be some
variations to what you learned in class.

Sentence Pattern Drill 14A

Pronominalized direct object and indirect object affixes—their order and position

These sentences illustrate the position that the direct object and indirect object
pronouns take in a sentence. The sentences also illustrate the order in which the
pronouns appear when both sets of pronouns are used together. The first sentence in each
set uses nouns as direct and indirect objects. In the sentences that follow the first one,
each noun is turned into a pronoun. The indirect object pronoun is used by itself, then the
direct object pronoun is used by itself, then the two sets of pronouns are used together in
various ways. Notice how the pronouns move in the sentence to in front of the verb when
there is a question word, a negative, or a tense indicator.

The boy threw the ball to his brother. . Usba’S [ECSPY S yg aa .)Al y

He threw the ball to him. LSl A1
He threw it to his brother. uﬂu ’j il )il
He threw it to him. c Sl _)41

Did he throw it to him? ¢ Al e
Yes, he threw it to him. L J-il ¢4

! "His brother" can be said either as u»‘-n’j’l or just (eS| The latter is being used here.
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The children did a favor for Oahlae ) WY Gadl s s

their (paternal) uncle.

They did a favor for him. eS| lilad
They did it for their uncle. A TR | wlila
They did it for him. RGN | PO~
Did they do it for him? folad ‘L‘—“L‘“‘
They didn't do it for him. e G
Buy meat for me. P IL Y QP Saw
Buy it for me. SAtr Sy
Go buy meat for me. .(*j-ws/i A wTh L..s.ﬁ 93
Go buy it for me. 2l SITCS

3

[ Yo + &G+ s+ sl ]

Don't buy it for me.

Give your daughter to us for our son. R o RSO R R TR Y R A
Give her to us. IR
We want you (m.pl.) to give your gt | a;‘-':*—'" t‘ﬂ P
daughter to us.
We want you to give her to us. e—‘:‘—:’ it ﬁ \_):3
? The two <'s together cause the sound to be said with a shedda, like Ya—s""5 (a7 .

’ The two <'s together cause the sound to be said with a shedda, like " (5 337 .
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The women did henna to the bride. .l ™ - PN YO P! 4 ig 5

The bride, the women did henna to her. ..t~ L).-.‘A—'.‘}:’ u&U—ﬂS ¢ M

Henna, the women did it to the bride. .Cal®w™ | Oreigd CalilS ( LTay

3

The women, they did it to her. RoUIL L L
Did the women do it to her? o 1L ey L"“l

Note for the next two examples, numbers 6 and 7, that the present continuous tense is
used. Notice how the pronouns move to between the tense indicator (in this case dJd , but

in other places also 3 ) and the verb. We will focus more on this in lesson 13.

A builder builds houses for people. . A ) SQTU a1 ;51 oy e M 6
He builds houses for them. LA )L\—Q Y
He builds them for people. Ol 1 s . /."]‘ i
He builds them for them. O S Y G U S

i

—_—
[
%
k3
°
£
€
%
\
%
°
4
\
-
—_—
t 13
\
\
—

The religious singer recounts  .(J 2=

stories to people.

He recounts stories to them. : L;?Lu;*;"g A a8 “u | C N
He recounts them to people. O s | “ | “ ey
He recounts them to them. e i TN

*The & here is said with a "y" sound.

3 There are a number of plurals for "house." Taifi lists this one and also (23 )33 | The "y" sound here
(the first =+ ) almost has a "g" quality to it.
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B. Listen and repeat.

Adapted from the University of Wisconsin course, tape TZ1.001.011, side B

The dialect used is from (e iy (Ayt 'Ayyash). There may be some
variations to what you learned in class.

This drill reviews just direct object pronouns by themselves. There's nothing new in this
drill, but it is a short, systematic review of direct object pronoun positions.

Sentence Pattern Drill 12

Direct object pronouns in various positions in sentences

These sentences show direct object pronouns in various positions in sentences. In
a simple affirmative sentence, the direct object pronoun comes after the verb. But
question words, negatives, tense indicators, and relative pronouns cause the direct object
pronoun to move to a position in front of the verb.

He took the wool to the market. (9 gt );G L _3*-4'-—*‘ S A
He took it () to the market. A e Uy 2
Did he take it to the market? fhsw e om t-‘—ﬂl 3

No, he didn't take it to the market. .33 & G2 SO y5 ¢ 8y 4

Yes, he took it to the market. QO e Sy ¢4y S
Where did he take it? fosn ek 6

The market is where he took it. S O e B b
He takes it to the market. é}iﬂ )—C L,SJ‘-—W:'(! el 8

He picked up the wool and .(B9— & 6““—\-1,.,3\-’.. Jhgal s 9
took it to the market.

Pick up the wool. Pick it up. TS B GIVIY B PYOSu Q;wi 10
Pick (m.pl.) it up.

® The form of the verb here is due to the grammar of sentence connection. Instead of sy we have
Cugh ¢ the simple imperative stem plus the regular conjugation prefix.
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Abrid 3, Lesson 7 7 w33

Supplementary Material Lesson 7
(to be used at the end of lesson 7)

1. Dialogue. Listen and notice the 2 of direction. Use the tape and the
following text that accompanies the tape.

Adapted from the University of Wisconsin course, pages 123-125

The dialect used is from Uil iy (Ayt 'Ayyash). There may be some
variations to what you learned in class.

23 ) and 3 "> & episode 10. Dialogue.

This dialogue is completely spontaneous; it was recorded extemporaneously

before the 2 ) and 3 )—= % series had been constructed and is typical of a common
kind of verbal play among Berbers, involving role-playing. The dialogue is faster than
usual, with very short sentences, and it's full of forms of direct address.

The greengrocer addresses 2 5 respectfully as Uncle Hajj—wz‘-h-n—x M~ . As
2 ) gives his order the man keeps asking "And what else?"— Qg;—‘ 3, 23 ) asks for
various fruits and vegetables: bananas ul-il-IJ apples C\—QA , potatoes U=U=—‘
tomatoes \-uﬂlﬂ—ﬂ , raisins ) onions d—*a—\—‘ , tangerines (1) J—!—A—-‘
oranges ujMJ a head of celery Kb . When he says "enough"—! L9y _)—-’ the
greengrocer suggests others he might have forgotten, such as string beans L\-\J—‘ or
squash Gy an’a , or cucumbers

As they reckon the cost, they bargain a little: 25 ) says 250 is a lot, the

vegetable man says it was really 254 but he had already knocked off 4 rials. 2 5 says,
"Well, okay, 250, gimme the change." They count it out together and say good-bye.
Now close the book and imagine yourself among the tents of the vegetable

merchants at the (3%~ ; see how much of the normal verbal exchange you can
understand in this context. During the next class you may play one of the roles.

IR CNE é-/-a-n,-j—'\’i e J\;@/A"l e 24y 1Yy :Synopsis

’C-

’.a! C1.o, :Lﬁj‘w'/.ﬂi
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! The doubled =+ is said with a "g" sound here.

g aal

* Taifi lists this word as k—*——&—x—w , but there does seem to be the sound of a kisra on the tape.

¥ Taifi lists two possible pronunciations for this word: s or s .
* Taifi lists this word on page 767 "iwra." It means "by here" or "this way."

*> We'll look more closely later at the 2 of direction when combined with direct object pronouns, which is
what we have here: 2 + =+ + 3 + )_<. that is, the verb plus the third person masculine singular

" ll

direct object pronoun "it" plus an
words: "Throw it (here, i.e., toward me) in the basket."

49
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Malby o' afaly]

Q o
.‘5.4.3
b 6«“_:_}3_}_?&&"_1‘01_3\4_3 R

- e

O R N Ty

WS g ISz sl

OGSz 2y

O Sz

® The simple imperative stem used here for "give" is 24 . There are many regional variations for this
word. Taifi lists six of them, under the heading "FK." In this course we've chosen to use the simple
imperative (& . The form of the word in the dialogue is: < + =+ + 28°&% thatis, the conjugated
verb "you gave" plus the "i" for the indirect object pronoun "to me" plus the third masculine singular direct

object pronoun ("it"—the bananas): "you gave it to me."
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” The sounds really run together here. The & from the word 33 seems to go with the previous word,
such that it sounds like nnagan Fed sin, with the Eed hardly distinguishable. Why the O in the phrase
"a head of celery" combines with the — to form — is not clear.

¥ Note the form of the verb due to sentence connection.

° The form "you forgot" pronounced slowly would be 23— | but here the two "t" sounds Jjust combine
into one.
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' A "y" sound is added to avoid the two vowel sounds (the aliphs) from coming together.
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English Translation of the Dialogue

Synopsis: Zaid went to the greengrocers to buy vegetables.

Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man

Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid

Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man

Good morning, master'".

Good morning,.

Are you all (m.pl.) fine?

How are you (m.s.) doing?

Well, may God make the merchandise good/beautiful.
Thank-you. [lit: May the blessing of God be upon you.]
What's up? What do you (m.s.) want, Uncle Hajj?
Weigh us out a half kilo of bananas.

Half a kilo of bananas.

Yes.

In the name of God.

Bring (it) this way [or: here], sir.

Here, take it.

Throw it (here) in the basket.

Take it.

Weigh us out apples.

In the name of God.

A kilo.

Here, take it.

Also give [lit: bring] us potatoes.

Yes. What else? [lit: With what?]

Give [lit: Bring] tomatoes.

What else?

Give us [lit: Do for us] some raisins.

What else? How many tomatoes do you (m.s.) want?
Give [lit: Bring] two kilos.

What else?

And...and... bananas, you already gave them [lit: it] to
me.

Yes.

Give [lit: Bring] two kilos of onions.

Yes?

Give [lit: Bring] two kilos of potatoes.

Yes?

Give [lit: Bring] two kilos of tangerines.

Yes?

Two kilos of oranges.

What else?

Give [lit: Bring] one head of celery or two.

Yes?

' Master at his craft or job.
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Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man

Zaid

Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man
Zaid
Vegetable man

Zaid

Vegetable man

Well, that's enough.
That's all?

That's what I'm able to carry, just that [lit: it that, i.e., that's it].

And won't you take some string beans?

Give [lit: Bring] a kilo.

Hey, we forgot squash.

No. Squash, we have some.

And cucumbers?

Cucumbers, we don't eat them [lit: it].

Should I gather (things) up for you now or...?

Yes.

Well, see that you didn't forget something.

No. We forgot only Satan. He went on his way.

Well, okay. . . How much do you have?

Well, see (for) yourself. '

You have two hundred and fifty (rials).

Yes? Isn't that a lot?

Oh!, two hundred and fifty four—did I take off for you
four rials?

(He gives him the money, 50 dirhams, that is, 1000 rials,
and waits for the change.) Well, take [lit: do] only two
hundred and fifty, when you get there [that is, counting to
the amount of 250], since you already said (it). Give [lit:
Bring] (me) those others [that is, the coins for the change].
Let's go.

Here take it. Here's the change.

Bring (it) this way [or: here]. In the name of God.
Here's three hundred.

There's three hundred.

Here's four hundred.

There's four hundred. There's seven hundred."

Here's six hundred. Here's eight hundred. Here's a
thousand.

There's a thousand—that's all. Good-bye [lit: May God
make you calm.], sir.

Good-bye. [lit: May God make you calm.]

"> That is, figure out the bill for yourself. Don't ask me.
% This number 700 is out of place. It seems to be just a mistake due to the spontaneous nature of this

dialogue.
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Abrid 3, Lesson 7

7 w33 a0

Review Exercises Lesson 7

1. Write out in Tamazight the full conjugation patterns.

He came from Erfoud. B
(=)
(od)
(i)
(LB2)

RIS Y

(c_a\_“_t‘)

(55)
(&)
(ess)
(5)
()

He brought back the money. .D
(=2)
(o=5d)

(| dg—adi}
S SRV BYS] { =)
[ it}

55

He went to Erfoud. A

B80T e 13

He gave back the money. .C

(0=2)

()

(o)
L Oad) Dy (L)




(#55)
(£55)
($2e55)
(5)

@ 04 Op

(22)

He brought the butcher's knife. E
(53)
(5d)

(Opet)

. s Sagay (52)

()

(F52)
(&)
(G2
(25)
()

w O

(S=52)

He took the butcher's knife.

P o-’."“

Write in the blank the opposite of the verb.

A'Ax%le B
Q9 Ky .D
& s H

56

Jse
)
Ay
o7 . j}:‘:‘

-

O

(H5)
()
(25S)

()

E
(oS)
)

a »
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Abrid 3, Lesson 8

8 w3 3 A,

Review Exercises Lesson 8

1. Write out in Tamazight the full conjugation patterns.
He didn't come from Erfoud. B He didn't go to Erfoud. A
(65) (0555)
(023) (o8os)
(o) (O3t
AAOT @5 g oy (WD) 8T pe 68y (b))
() (i)

(o)
(¢5)
(i)
(55)
()

Did he bring back the money? .D
(53)
(Oo=d)
(i)
(=2)

$Ooad) Vs (]

EESY

o7

(55)
(&55)
AN
(i5)
e

Did he give back the money? X
(=)
(o5d)
(O3adi)
(L=2)

fOo3) syl o)

(Q:J‘ “-.o-)




(&)

()

(iatiS)

(=)

(i)

He will bring the butcher's knife. .F

o)

(nRis)

((O3—t)

L] s ] (=)

()

(<)

(=)

(iasis)

[t

(<)

(&)

(SiatiS)

i)

(&==2)

He will take the butcher's knife. .E

(055)

(nRis)

( Chivatl )

LS ssb ]

(1)

(@)

(S5)

(5)

(iatiS)

(&==)

He goes to Erfoud every week. .G

(o)

=y

(p—ast)

Ulate S 085 & o2453

(=)
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(Qlil"_'a)

(S55)
(&5)
(s ey
(55)

w4 O

(57)

He comes from Erfoud every week. H
(5=)
(Os5d)

(i)
Llamw o€ 08 (o) 53000 By
(wlas)

(oH85)
()
(s
(55)
.

2, Write in the blank the opposite of the verb. Keep the verb in the negative or
as a question.

fliatled (W] B Igd e A
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Abrid 3, Lesson 9 9 33wy

Supplementary Material Lesson 9
(to be used at the end of lesson 9)

All the material in this lesson concerns the < and ( of direction, that is, the @ of

nearness or proximity and the O of farness.

1. Independent sentences. Listen and notice the 2 of direction. Use the tape
and the following text that accompanies the tape.

Adapted from the University of Wisconsin course, pages 76 to 77

The dialect used is from (ile iy (Ayt 'Ayyash). There may be some
variations to what you learned in class.

3-:-.3\,} and ? t)—“-‘s-‘ episode 5: the tea ceremony in a tent. Independent sentences.

The ritual of making-and drinking hot, sweet mint tea is an important part of
Moroccan hospitality. Mint is called EL’-—-"L‘ . When 23 ) and 3 = 33 enter the

tent, the servant _§da—a brings the tea utensils. The word for utensils is : lL_f.&_.s’l .
A ) s going to make the tea. The water ( Ol ) is not boiling, so g puts the
kettle on the fire. 2= ) and 8 - s are in a hurry, so while the water heats > )
checks the supplies. There is mint, but the sugar box is empty. The verb meaning "be
empty" is ol ; here it has the form 1) [ GIR U3 \ s B SRy ]
Also the tea is scarce in the tea box. The verb meaning "to be scarce or few" is (9 2
[ gD o{l SERNS'TS! 3’! TP BIEPE ] PRIPNEN brings tea and
sugar; then the water boils and he brings it to -‘-;ﬂ ) Ji.é‘ 2 fills the teapot and
jﬁ:.“aé takes it to the charcoal brazier, which is called 2 )—AA—A—‘ When the tea
boils up, he brings it back to 27 ). The herdsman is waiting on the guests. The verb
meaning "wait on (someone)" is );ﬁ—m

& -

[ _)-’:i;u’l JJ \ J_’i_’u/‘! J\ u.\ ’.u “\ J & ]
Each sentence is followed by a pause, during which you may repeat. You may
follow along in the book if you wish.

! The pronunciation here clearly has a shedda on the U5, but Taifi's dictionary lists the word without a
shedda: \S—53| .

2 The speaker says )—‘AA—ﬂ—! , which is a mistake. Listen to sentence 14.

60



Other useful vocabulary:

sugar box e Oy 5 3¢’—*—J—‘ 0=

tea box S B ..J—'.1 (@ m “.,.3_‘@

water kettle — oy 3] 4ui‘ N
bellows (for blowing on the fire)  — ol ) ] e
e O BT pe Bhen o 2l Kl
5 ) Wa) saela ngn 2

ST ‘J~°—Jb g ST

O i Ly 4

el G G paes &) s

S S I

gl Wy g

RULPRSL R B S ) oy 8

Sl s 9

RUAAPRE IS Gy NP P G302 .10

A Wy 0 ST anea ys

~

* The Wisconsin course puts a shedda on the ) , but Taifi lists the word without a shedda. The

pronunciation in these sentences (See sentence 9, for example.) treats this word as an a-constant noun,

whereas Taifi says the first vowel disappears in its dependent form.
* This word is said with a rounded (3 and thus sounds like (% 321

* There are a number of regional variations for the present continuous tense indicator. Even the one used

here has two variations: either — or — with a shedda on the J. Taifi lists both of these. We've

chosen not to use the one with the shedda, but the speaker here does seem to be saying it, although at times

it is quite subtle. Since both ways are acceptable, you don't need to worry about the shedda in this case.
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2. The same topic in narrative form. Listen and notice the < of direction. Use
the tape and the following text that accompanies the tape.

Adapted from the University of Wisconsin course, page 77

235 and ® v c o episode 5. Narrative.

Since there is much fetching and carrying in this narrative, several verbs are used
with the 2 of proximity indicating action directed toward someone. _§ita— gives
o - : . 8 .o e ;
23 ) the tray and glasses; to "give here" is ~2— plus 3. g3 brings sugar and

tea; "to bring" is Lﬁjzi plus 2. He carries the water to 2 ) ; "to carry hither" is

g;,-“"ri plus 2.

Listen for comprehension. You may follow along in the book if you wish.

® The continuous imperative here of the verb "to boil" ( s is the simple imperative) is pronounced with a
rounded "g" sound. Thus, the word sounds like: negg™a .

" There are a number of regional variations in pronunciation for this word. They all involve changing the
order of the "n," "b," and "y" or "g" sounds. It can get quite confusing. It's best to choose one that people
around you use and just use it all the time so that you don't get mixed up.

® There are numerous regional variations for the word "to give." We've chosen in this course to use the

simple imperative (& . Taifi lists, under the heading "FK," other simple imperatives as: <8 | < ;
iy ,and Uy
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Note the position of the < of nearness when used in words with indirect object

pronouns: the 2 comes affer the indirect object pronouns.

M) ) e 0 BT e 3T a2l P

B

\_..L'\:WAA \a'\/-nlaali\\ '9;5\:.3‘:‘3 ml atdy A:_'I;a.uh“i }-l}&:.:s |

- -

st s MUse o5 cglly Gla Jlay et gt

she oWy | Capant M) D) culel Gl 3,5 )
CElET ) oS ST ) @il ) sl 00 s
RSTTBR]|

) gl alubly gl 0 TN nela ays
A 0 gt o T AL 1) SO T ]

SEEEN 123! G swes | @QlliTd) o oldy e Olae ! 3 4

-

A5 swels aptiieg IS0 10y Tl g el

£ 51

Grammar explanation:

3 + = + @ ¥ s T Aaug
the "d" of The "i" is added "it," the the verb "he
nearness for pronunciation. teapot carried"

The "i" sound is added for pronunciation to keep the "d" sound of the nearness
particle distinct from the "t" sound of the direct object pronoun. This is common.

° Some dialects would say Uy O LS—‘:""” .

' The "t" here is the direct object pronoun "him": "when he asked him." The word < causes the
pronoun to move to in front of the verb.

' Some dialects would pronounce this (- s
2 "That he put it (m.)": :51 + & + 37, This dialect assimilates the 2 into the < to form &, What

we have learned in this course, however, is that the 3 just disappears when it comes in contact with the
direct object pronoun. (See Abrid 2 Student Book, page 56, number 6.)
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3. The same topic in dialogue form. Listen and notice the < of nearness and

the one use of the ) of farness. Use the tape and the following text that
accompanies the tape.

Adapted from the University of Wisconsin course, pages 77 to 78

J—O:.’U and @ :)—cy episode 5. Dialogue.

After a brief synopsis, =) begins the dialogue by telling sita—> what to
do, using many imperative sentences. gl responds in different ways: with "okay"
i J , or with the pointing demonstrative (3Ll or the handing demonstrative
ST Atone point he just says "wait a bit" Lﬁj;:' Ja,

Now close the book and try to comprehend the dialogue as you watch some of the
action on slides.

A0 w‘“ggl O AR e 2 3 3 P LY (R -
ool Tt dnf o pd) g;—“ s Ol

SEE TR (S YR R IO =
B s = = NN LY. FT A e
WS o) Ol gl : )

cuilel ala a0 é’j:’i Gd 0t ; it

o= ofle cLe Y aga )
LA : FRIPREN
fellals W) () . 20y

Sl 8 L L) o] el L) : gas

L Sy sl a5

Ny oG TR e
¥ Some dialects put a shedda on the ¢ : &L , from &b + 3
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Grammar explanation:

O + - + G +
the "n" of The "i" is added  "him," Zaid's
farness for pronunciation. brother
=)+ 3 % ke % < +
the verb "I the "d" of The "i" is added  "it," the tea
will bring" nearness for pronunciation.

the verb "they
found"

3
the future tense
indicator

Ol

" This word for "also" is pronounced with a rounded "g" sound. Taifi lists the pronunciation as "agg"d" or

"agg¥ed." Another variation is 39 "awd," which we have chosen for this course.

'* Some dialects would just say <SS This dialect adds "it" instead of just "t" after a consonant.
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-

Q + - + (Gl + Lﬁji = g

the "d" of The "i" is added "it," the the imperative
nearness for pronunciation. teapot "bring"

The "i" sound is added for pronunciation to keep the "d" or "n" sound of the
direction particles distinct from the "t" sound of the direct object pronoun. This is very
common when the direction particles are used with direct object pronouns.

English Translations of the Previous Texts

Independent sentences

Some of the sentences by themselves are ambiguous as regards to whether they
are in the past or present tense. In the context of the narrative, told in the past, a number
of sentences could be translated in the past tense. But in the context of the dialogue, a
present tense is appropriate.

1 Zaid and Bouazza entered Moha's tent.

2. Hmidu brought the utensils to Zaid.

3 Zaid is making tea.

4, The water isn't boiling.

8. Hmidu put the water kettle on the fire.

6. Zaid and Bouazza are in a hurry.

7 There is mint.

8. There isn't sugar in the sugar box.

9. The sugar box is empty.

10.  There isn't much tea in the tea box.

11.  Hmidu brought sugar and tea to Zaid.

12. The water is boiling.

13, Zaid filled up the tea.

14.  Hmidu put teapot on the brazier.

15.  The teapot boils.

16.  The teapot is boiling.

17 Hmidu carried [brought] the teapot to Zaid. [Seen from Zaid's point of view.]
18. Hmidu serves Zaid.

19. Hmidu is a servant. [lit: A servant that he is Hmidu.]
20.  The herdsmen serve the guests.
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Narrative

Zaid and Bouazza entered Moha's tent. Zaid said to Hmidu to give them the tea
utensils. He gave them the tray and the glasses. When he [Zaid] asked him about the
water, he said to him it was still not boiling, and he put the water kettle on the fire. Zaid
said to him to blow [with the bellows] on the water because they were in a hurry. There
was mint; the box of sugar was empty; as for the tea, there wasn't much.

Hmidu brought the sugar and the tea. He carried [with the direction of "brought"]
the water to Zaid for him to fill up the tea. When Zaid had'® put [lit: threw] the tea, mint
and sugar in the teapot, he filled it with water. He gave it to Hmidu for him to put it on
the brazier for it to boil. When the teapot was boiling Hmidu carried [with the direction
of "brought"] it to Zaid for him to pour.

3

Dialogue

Synopsis: Bouazza and Zaid entered the tent of Zaid's brother. They found him not
there. Zaid stayed to make tea. He called to the servant.

Zaid: Hey, Hmidu! Bring us the utensils to [lit: for us to] make tea.
Hmidu: Here, first, are the tray and the glasses.
Zaid: Bring the water if it's boiling.
Hmidu: Wait a bit. I'll put the water kettle on the fire.
Zaid: Blow [with the bellows] right away, we're in a hurry.
Hmidu: Okay.
Zaid: Is there mint?
Hmidu: There is. See if there's sugar in the sugar box.
Zaid: There isn't any, it's empty. Nothing's in it.
Hmidu: Okay, I'll bring you (m.s.) the sugar.
Zaid: There's not much tea, either.
Hmidu: I'll bring it.
Zaid: Here, take the tea box
Hmidu: Here you go, here's the tea, here's the sugar.
Zaid: Bring the water if it's boiling.
Hmidu: It's boiling.
(Zaid put [lit: threw] the tea, mint, and sugar in the teapot.)
Zaid: Take [lift up] the teapot. Bring it to a boil. [lit: Do it for it to boil.]
Hmidu: Okay.
Zaid: Take [lift up] the bellows. Blow on the teapot.
Hmidu: That's enough. It's boiling.
Zaid: Bring it for us to pour.

' Some of the more complex tenses in English are not always distinguished in Tamazight. What is the past
perfect here in English is simply expressed by the simple past in Tamazight. The context shows that it is a
past action before another past action, which is what the past perfect expresses in English.
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4. The questions: '"to/for whom?" and "to/for what?" Listen and repeat.
These are useful questions that weren't covered in Abrid 2, lessons 20 to 22. Also

listen for the 2 of direction. Notice that it moves to in front of the verb, since there
is a question word. Use the tape and the following text that accompanies the tape.

Adapted from the University of Wisconsin course, pages 79 to 80

Questions focused on the indirect object

These are m-questions focused on the indirect object: that is, the question asks
"to whom?" or "to what?" [also: "for whom?" and "for what?"]. The answer can be

simply an indirect object phrase, that is, the sound | plus the object noun. "To Zaid"

wouldbe 243 .

The question is asked twice; try to answer it. The simple answer follows, given
twice. Repeat it. Then the full answer is given twice, followed by a pause for you to
repeat it. The full answer is a sentence focusing on the indirect object.

Try it with your books closed if you can. Number 1 is an example.

Grammar explanation:

We've seen this question word before in the 4brid 3 Student Book, the bottom of
page 16. It was used with the verb "to need." Since that verb uses indirect objects, the
question word was "to whom," as in "To whom is bread needful?" (This was more
colloquially translated "Who needs bread?")

A. The question word (g“u needs an explanation. It consists of the following structure:
et ) + L
to who? = who the preposition "to," the mark of a
to whom? which is used with question

indirect objects

This is combined into the following form: gﬂ;.‘l-“
Then this is shortened to this form: gg“‘L“

Depending on the context, as illustrated in the sentences below, the question word can be
translated "to/for whom?" or "to/for what?" In the sentences that follow the speaker

always uses the long form (sa—le but s=ke is quite common,
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B. The response word g;‘l also needs an explanation. It consists of the following
structure:

T ) + s
to who = who the preposition "to," the relative
to whom which is used with pronoun
indirect objects "that"
This is combined into the following form: g;n—,-.ii
Then this is shortened to this form: gﬂ‘i

Depending on the context, as illustrated in the sentences below, the response word can be

translated "to/for whom" or "to/for what." For example, the long response in sentence

number 1 can be translated: "(It's) Zaid that to whom Hmidu gave the tea utensils."
"Zaid (is the one) to whom Hmidu gave the tea utensils."

In the sentences that follow the speaker always uses the long form g,-ﬂ—,.'}i , but g_-,—'“i is
quite common.

Tl WI5878) guals G (ol 1

rd 3 “ 3
A 3

A5

SPE P LG ORE I BT
?JJ..}A:A ua‘}a.a’l LFA;.\LA 2

A4
. JJ..}AL}. U= y.a’l ‘;n;ﬁ A i);:’i

Ay )

B N TE N Rty R |
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English translation of the sentences

1. To whom did Hmidu give the tea utensils?
To Zaid.
Zaid (is the one) to whom Hmidu gave the tea utensils.
2. To what did Hmidu blow?  [You blow "to" something in Tamazight. Substitute

the preposition "on" for a more appropriate English
translation.
To the teapot.
The teapot (is) to what Hmidu blew.
3. To whom did Hmidu bring the sugar?
To Zaid.
Zaid (is the one) to whom Hmidu brought the sugar.
4. To whom did Hmidu carry the teapot?
To Zaid.
Zaid (is the one) to whom Hmidu carried the teapot.

S The 2 of nearness and the O of farness used with direct object pronouns.
Listen and repeat. Use the tape and the following text that accompanies the tape.

Adapted from the University of Wisconsin course, pages 80 to 81

Orientation particles with verbs for "bring" and "take"

You have frequently heard the verb for "go" 32, used with the proximate

particle 2 to mean "come." This proximate particle 2 or 23 [The "i" sound is added
only for pronunciation purposes.] is added to many other verbs in the same way to
indicate action oriented toward the speaker's actual or psychological location. The

remote particle of orientation ') or (! [The "i" sound is added only for
pronunciation purposes.] is used less often. Both are used in this exercise to illustrate
opposite viewpoints of two people commenting on the same action. Picture to yourself

43 gaxa sitting in the kitchen side of the tent, where the tea things are kept and the

"' This particle can be either just O or & , with a shedda. Taifi lists both on page 455. We've chosen
not to use the one with the shedda, but the speaker here does seem to be saying it, although at times it is
quite subtle. Since both ways are acceptable, you don't need to worry about the shedda in this case.
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charcoal brazier is, and -lo—.." D sitting on the other side of the tent, making the tea; while
the servant, §i—x goes back and forth between them, fetching and carrying.

4  $aa  says, for example, " glea took the tea things; he took them." -3 ) says,
UERTPNEN brought the tea things; he brought them." To get the proper orientation, you

might choose just one role, and repeat either =3} )'s sentences or a—"}ﬂ.—.m 's. The full
sentence is given twice; repeat it the second time. Repeat the short version both times it's
given. And remember which side of the tent you're on.

Grammar explanation:

This is the first systematic look at the direction particles plus direct object
pronouns. The direction particles come affer the direct object pronouns and an "i"
sound is inserted for pronunciation to keep the "d" or "n" sound of the direction
particles distinct from the sound of the direct object pronoun. This "i'" insertion occurs
with all direct object pronouns that are consonants.

The following chart gives the direction particles plus the third person direct object
pronouns. The verb used is "he brought/took'®."

Third person masculine plural Third person masculine singular

direct object pronoun direct object pronoun
he brought them "3 341y he brought it A3 ¢
he took them there u—,.‘—‘:’—..'ﬁ:‘ he took it there ()t g1

Third person feminine plural Third person feminine singular

direct object pronoun direct object pronoun
he brought them 3—}—3—*:‘—}% he brought it -"—*:1—;' gt
he took them there u—’—ﬁ——*—"‘—,’j—..’-.-.’ he took it there (it g1

** This verb does not have to have the ¢ to mean "take." In fact, c,;_s’i by itself means "take" as opposed
to X9l "bring." Often (but not always) the O adds just an emphasis: “there." For this reason the () of

farness is used less often. It is by practice and usage that you will start to know when to use the O) of
farness and when it's not necessary.
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» O

N e B
He took them (there).

O

-'3—‘—.‘—‘—'}—.3-:‘

o~ o

He brought them.

Har

.A—l—l—l—uﬁ‘,:\

- -

He carried it.

QU RRERpY
He carried it (there).

He took it (there).

He took it (there).
.l_.\_l._lj_wl_“l

He brought it.

He took it (there).

w

_JJ-L...}}_}_)

o

He brought it.

Ly PICAT) gaets ey
Hmidu took (there) the tea utensils.
Hmidu brought the tea utensils.
Hmidu carried [brought] the sugar box.
‘).S_w.u d u_:_s_a J._.: }.L\A_; BENE
Hmidu carried [took] (there) the sugar box.

S snels ey
Hmidu took the sugar (there).

O @yt BT s gup
Hmidu took the tea box (there).

L Gl DT gaes 0y
Hmidu brought the tea box.

AT suels Gasn
Hmidu took the teapot (there).

S
Hmidu brought the teapot.

'” The speakers are pronouncing this word like "ifes§a" or possibly "ifeska,” where the "k" is not hard but a

fricative.
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Abrid 3, Lesson 9

9 w33 2,0

Review Exercises Lesson 9

| & Write out in Tamazight the full conjugation patterns.

He arrived (there) in Agadir. B
( & A ws oy )
(=5)

(Os)
(i)

(&52)
(5)
(F2S)
(o55)
()

Did he arrive (there) in Agadir? .D
([ G)
(s

(i}
PKT & gt e (L3

(i)

73

$ T ) o end )

He arrived from Agadir. A
()
(Ss)

(Opasd)
con8T sy ey (Lmh)
(s

(55)
(&25)
(amss)
()
(35)

Did he arrive from Agadir? L
(=)
()
(i)
(=)

(i)




)
(55)
QESRLY
(i3)
QEELE)

He didn't take the butcher's knife (there). F
(=)
( Gl
(i)
(=2}

So—ia] (e g

(wla)

(H5)
()
(nS)
()
()

(5)

(&5)

(ietis)

(=)

( “,,,u'.)

He took the butcher's knife (there). .E

(o)

(o8s)

( st

S| ey (=)

(lsh)

(55)

(&55)

(i)

( i t)

2, Write in the blank the opposite of the verb. Keep the verb in the negative or

as a question or in the future.
o7 j}ﬂ-‘
I ,2030
o3 o4
Z—a s g

T m O w

a3t

BB BRY

a5

Q ok




Abrid 3, Lesson 10 10 0 33 3 20

Supplementary Material Lesson 10
(to be used at the end of lesson 10)

1. Dialogue with direction particles. Listen and repeat. Use the tape and the
text that follows.

Adapted from the University of Michigan course, pages 131 to 133

The dialect used is from (il—e 7y (Ayt 'Ayyash). There may be some
variations to what you learned in class.

Ly sy 50 ; SR

..n.ﬁd. “ Ot Ta " . o o..—J : ‘w.-~
£ 1o 4. ol 0 . - °m . T °
L R S B S ligd : Aae

L WU P W ; Lie

.-o’fi
5 O e e we “& wh s 4 aw:)’r— °

A7y AT e 5. ae

?u"s’:. ’! -d‘ ‘,‘;! :‘i‘ O_J.aﬁ : A °

¢ .’ /i .e.’,:sl “5!’. L)_HL.C 'tso ¢ :}li GS : 1‘,/..'
Qf};’af‘i ]’.a.- o, :J;*LQ lﬁs‘,j .3‘.4‘5‘ LS - O'J.J_o_.j
B

' The independent form of the word is LS5 “tignaw.” The dependent form, used here, is “tgnaw,” but

in order to pronounce the three consonants together, a short vowel Js introduced: “tegnaw.”

% In the first reading the speaker makes a mistake and says ... 0S5 o W, However, this is corrected
to what the above text says in the second and third readings.

3 Some dialects would pronounce this (=2 |

* This word for “also” is pronounced with a rounded “g” sound. Taifi lists the pronunciation as “agg™d” or
“agg"ed.” Another variation is Y51 “awd,” which we have chosen for this course.

® This particle can be either just O or O, with ashedda. Taifi lists both on page 455. We've chosen not
to use the one with the shedda, but the speaker here does seem to be saying it, although at times it is quite
subtle. Since both ways are acceptable, you don't need to worry about the shedda in this case.

75



P R e ™ sty
.Cic.\‘u\l..; \w" J l d.g. ’:
G TJa 3 ol 8] L Gy Wl Jad LAy - dax
! w ° o w0
Grammar explanation:

O o+ =+ G+ gl = oitle

the “n” of The “i” is added  direct object a question word

farness for pronunciation. “you” “where?”

. o - — ® /: -4 -
J + - + L - et S g

the “n” of direct object the verb “it (f.)

farness “me” caught”

Said
Aqqa
Said
Aqqa
Said
Aqqa

Said
Aqqa

Said
Aqqa
Said
Aqqa

English translation of the dialogue

Oh®, today is hot!

The sun sure burns.

This is the heat [sun] of thunderstorms.

Clouds haven't appeared yet.

Yesterday was also like this [lit: Also yesterday like this that it was.]
Where did it [that is, the thunderstorm (feminine), but meaning the rain] catch you
yesterday? [In other words, where were you when the storm came up?]

It caught me in the fields. And you?

I went to wash (myself®). As soon as I arrived there at the river, the storms
begdan. I returned before the rain hit.

Did you hear the thunder [lit: the thunders, that is, the claps of thunder]?

I heard it [lit: them (f.pl.)].

The weather is bad, but this is better than the cold and snow of winter.

Let's go before it [the storm] catches us.

® This word can mean either "thunderstorm"” or "thunder,"” depending on the context. It's plural here.

’ We learned the word J—8 31 | witha 2 , and that's how Taifi lists it. But the speaker clearly says = here.

® Taifi lists this meaning on page 762: "vraiment."

° The Michigan course says "wash (my clothes)." Taifi lists the verb on page 565 under "RD." The verb is
a causative verb, which we will cover in lesson 22. The meaning is to cause to be clean, that is, washed.
Often the verb is used with a direct object, but here there is none. Taifi lists the meaning as both the
transitive "laver" (to wash something) and the intransitive "se laver" (to wash oneself, that is, take a bath).
It's doubtful that an Amazigh man would wash his clothes in the river. That's usually women's work. Thus,
it seems likely that £aqqa went to wash himself.
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2. Review of the 2 of nearness used with the tense indicator 2 | . Listen and
repeat. Use the tape and the following text that accompanies the tape.

Adapted from the University of Wisconsin course, tape TZ1.001.01 3, side A
The dialect used is from (il—e 7y (Ayt 'Ayyash). There may be some

variations to what you learned in class.

Morphophonemic Drill 14

Forms of the aorist tense aspect prefix

The basic form of the aorist tense aspect prefix is ay, [The speaker says 3 ¥

It occurs with the imperfect stem.

What is meant by the aorist tense is when the simple imperative—without any
changes—is the verb stem to which are added the regular conjugation prefixes and
suffixes. This occurs, for example, in the two-verbs-together structure, the future, and
with benedictions and maledictions ("May God ...," which is technically a subjunctive
use).

The particle 31 —a tense indicator—is the most basic form used in these
contexts. For the future tense, some regions use other particles, many of which contain
a7y,

When the 21 comes in contact with certain consonants of the conjugated verb or

of pronouns, the 27 sometimes changes. Often the 2 drops out or is assimilated into
the following consonant, causing it to be said with a shedda. The sentences that follow

show some of the modifications that the 2§ undergoes in certain contexts.

(Groups 1 and 2, that is, sentences 1 to 9, are skipped here, because they don't apply to
the direction particles.)
Group 3

Sentences 9 to 12 show what happens when the 1 encounters the 2 of direction.
Normally, the 2 of direction comes after the verb. But because of the tense indicator

A ,the 2 of direction moves to in front of the verb. Thus, we have:

ad + d = add A = a4+ 2
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LTiaTan e 1) | 9
He is going to the city. or He went to the city. ’
S 5 o]
He will go to the city.

NELE SO S I ICY )
He is coming from Meknes. or He came from Meknes.
RS TS I R Y

He will come from Meknes.

e gy 11

He brought vegetables.

.L"_; “ 4 e cI ‘éjlfjes’i

He will bring vegetables.

PO EERYWCRET
He picked up onions.

PSS I Py

He will pick up onions.

Group 4

Sentences 13 and 14 show what happens when the 37 encounters direct object pronouns
and the 2 of direction at the same time, both of which have moved to in front of the

verb because of the 2 | . The order is:

the "d" of direction + direct object pronouns + 91

In certain cases, as illustrated in sentences 13 and 14, an "i" sound is added for
pronunciation to distinguish the 2 of direction from the direct object pronouns.

Ay’ neay g3

He brought vegetables.
(b + 2+ &+ @+ 37) b 0]

The - isthe 2 ofdirection. The =+ is added for pronunciation.
He will bring it. [ < a3l jsa collective plural.]
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AT 14

He picked up onions.

YT E

(wg+a+++¢+a’i)_gﬂga§_\g
The 2 isthe 2 of direction. The =~ is added for pronunciation.

Loe
He will pick it up. [ e,-.\j‘ 21 isacollective plural.]

3. More practice with direction particles. Listen and repeat. Use the tape and
the following text that accompanies the tape.

Adapted from the University of Wisconsin course, tape TZ1.001.013, side B

Sentence Pattern Drill 15

Particles of orientation

The particles of orientation show the direction of action or movement in relation
to the speaker. The 2 of nearness shows movement or action toward the speaker. The

O of farness shows movement or action away from the speaker.
Each pair of sentences shows the action from a different point of view.

O e @S e Guyd 1) Towod O eyt g
Driss went to Tiffelt to Lhousain's place. ’ : Driss' neighbor
B e e = S R S P SRt Y PRV SNl S Py
Driss came to Tiffelt to Lhousain's place. l : Lhousain's neighbor
) o5 o=l BTN e L) 1)) rowyd O WY 2
" Driss went to Rehhou's place (but) found ) : Driss' neighbor
him not there.
] os Aaill T e Luyd JY) e O U]
" Driss came to Rehhou's place (but) found } : Rehhou's neighbor

him not here.
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1 °:. L) S e - ° - - ° °

Halima brought the letter to her brother. : Halima's mother
Halima took the letter to her brother. : the postman
DT e Gesds Ul JRER ey . My w4
The harvesters carried [brought] the sheaves : the guy at the barn

of grain (here) to the threshing floor.
P 2 awtas Usla) Gl 8 S G R P e

The harvesters carried [took] the sheaves : the one who stayed
of grain there to the threshing floor. in the field
Aaete ) Pl st camta g Y] s
Give tea to Said (here). : Said's neighbor
Amle ol Bogius : Liian g
Give tea to Said there. : the guy with the tray
Part B

Now one sentence of each pair will be said. Listening for the direction particles,
figure out who's speaking. The answers are then given on the tape and written below in
the footnotes.

N e T S o T S VS R I Y

Potiusst Jali sl guyd o sl YT S PG <

' "Her brother" can be said in various ways. Two of those ways are (WS or wﬂl .

" Taifi lists this word with a shedda: I57 , but the speaker here doesn't pronounce it.

? In past tapes of this series the speaker often put a shedda on the < in the word for "tea," but it is clearly
not said in this tape.

" This particle can be either just O or O, with a shedda. Taifi lists both on page 455. We've chosen
not to use the one with the shedda, but the speaker here (and throughout the whole tape) does seem to be
saying it, although at times it is quite subtle. Since both ways are acceptable, you don't need to worry about
the shedda in this case.

" This is from O 3=4) + sle : "Who spoke?" The participle form is used when the question word is
the subject of the sentence. In this case the () assimilates into the J to form dJ.
B Answer: ound O a3
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i - 16 « o . 3 w
-H,l o9 Ay Py ye ) A7)

17¢ «_ o . o 76 o . 5 e sk oo
?HJ 8 J\%Al ala S DS J\;Jl .Jl Qd_,,.uJLA

TPV S T R TR

Brliun 5 ok dal's o gatle 3 £ kL
DT e fpsal 5] Al
‘9?)3‘1 d olerd) Uiy ol 157, s YR A e

-

el | T o

e iymin g ol amtu o Y] 3 U kL

English translation of Part B

1. Driss went to Tiffelt to Lhousain's place.
Who spoke? Was it Driss' neighbor or Lhousain's neighbor?
Driss' neighbor.
2. Driss came to Rehhou's place (but) found him not here.
Who spoke? Was it Driss' neighbor or Rehhou's neighbor?
Rehhou's neighbor.
3. Halima took the letter to her brother.
Who spoke? Was it Halima's mother or the postman?
The postman.
4, The harvesters carried [brought] the sheaves of grain (here) to the threshing floor.
Who spoke? Was it the man at the barn or the one who stayed in the field?
The man at the barn.
D Give tea to Said there.
Who spoke? Was it Said's neighbor or the guy with the tray?
It was the guy with the tray.

' Because this word starts witha  and the previous word ends witha _ , the speaker pronounces that
sound with a clear shedda.

7 Answer: 527y o ]
'8 Answer: Ua—u o] £

1 Answer: 13

2 Answer: i —a &

Ca—
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4. More practice with direction particles. Listen and repeat. Use the tape and
the following text that accompanies the tape.

Adapted from the University of Wisconsin course, tape TZ1.001.013, side B

Morphophonemic Drill 15

Alternate forms of the particles of orientation

These sentences show the particles of orientation when they follow a direct or

indirect object pronoun or the tense indicator 2 . (The speaker says 3 )

Numbers 1,2, and 4 show the orientation particles with both the direct and indirect
object pronouns together. Number 3 shows the orientation particles with just a direct
object pronoun, and numbers 5 to 12 show the orientation particles used with the tense

indicator 31 . Whenever the orientation particles are used with direct object pronouns,
an "i" sound is inserted for pronunciation between the pronoun and the particle.

At I S e R S T\

Give it to him (here). Give tea to Said (here).
Ol s | Ul ol 2

Give it to him there. Give tea to Moha there.
RELEPY AT a3

Bring it. Bring the teapot.
Ot o Aoy A T Gl 4

Take it to her there. Take the teapot to its owner (f.) there.
Fge) 3 FOAT e e 5

I will come back. Come back to our tent.
R peay waky e o 6

I will go back (there). Go back (there) to Rabat.

*! Taifi lists two variations of this word: JY and JY .
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& st e Pyt ala 3]

He came back to our place. He will come back to our place.
O OAde ) O3t 20l

He went back (there) to He will go back (there) to their (m.) place.

their (m.) place.

.un G:l‘.n1< n‘ \“\ “‘J—.E N o G.I’“;\Sﬂ ‘;‘_“Li 03/1

He carried his glass He will carry [= bring] his glass

(toward him). (toward him).
Ol g ol PR

He carried his glass He will carry [= take away] his glass

(away from him). (away from him).
AT g 2l KU I P R e Wy

He came out from the house. He will come out from the house.
(S N R R | LIS (o) A

He went out from the house. He will go out from the house.

*2 Other dialects say F— s .
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Abrid 3, Lesson 10 10 003 3 30

Review Exercises Lesson 10

1. Using one word from each column, write a question and an answer about
where something is located. Use the verb S |,

& — 0
Py ey
L4 a0
O L3 Ua s gl
<Gl [N
"l U
kY Sy
ol & O pd (g Al
Sl
$80%a s O ayn] lugyd Sk A

PR Ve I NN IR YOU] I O
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N
J

2, Jewelry vocabulary
gold — &5 earring(s) —O 5 () Gl A )
silver - U'—U-'—a—i necklace(s) — = (2) PP (t2)
braSS e ug\_ae_‘.\ ring(s) — eu_,&b_o‘; (li) LL\;Q:}\A.—QLZ} (tl)

amber — ol bracelet(s) — (a1 5’1 G RRTICY N

- e

belis) — Ol 3] Al 5T

crown(s) — zS 2 GL—E

Fill in the blanks with a grammatically correct word. More than one answer may be
possible.

h"_\.:_'le._.\.ujd ‘a\JJ A

¢ Lagh o) B

Tluged o), od

! 2l g D

U=3d (53 E

¢ O L g u»‘-w/l F
O Qlnwey )y G
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Abrid 3, Lesson 11 11 o3 3 a,n|

Supplementary Material Lesson 11
(to be used at the end of lesson 11)

1. Long and short forms of prepositions. Listen and repeat. Use the tape and
the text that follows.

Adapted from the University of Wisconsin course, page 157

The dialect used is from (ilpe )| (Ayt 'Ayyash). There may be some
variations to what you learned in class.

Long and short forms of the prepositions "in" and "on"

long form short form
1% 5 .
‘5'-‘—:.‘-’ Yy : in
k_.ﬂ:}..c L...'ﬂ’; : on

When the object of a preposition is a pronominal affix, the preposition has its full
form. When the object is a noun, the preposition has its short form. For example, "to’

the man" would be W) g , but "to him" would be () s& , using the full form
of the preposition & plus the pronominal affix (» for "him, her, or it."
In the following sentences, =} ) comments on the location of some persons

; : o . 3 s . s
and things, using the preposition for "in" S~ with a noun object. For example,

"};191 stood in the house." .yl 45 & }—Lll P25 You are to echo this

comment, omitting the nouns: "She stood in it" would be LJ-“J-‘J W (using the
long form of the preposition d—’J plus the pronoun affix (). Then you will hear

4  9a2«a's model answer to repeat: . (= <,.“ FAaS | Here now, again, is a3 D's first
comment:
o ol L N LSl A & ,_Ja Al 1
She stood in it. Itto stood in the house.

' See page 56 of the Abrid 3 Student Book for details on pronunciation of this word in various contexts.
"To" in the sense of movement toward or "going to his place" as opposed to "giving something /o the
man.'
3 Pronounced here as "y."
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.uuei.:\ ‘ 3;.\ i '461511— tli‘ Mus:* :.” ‘ w-l—\—.!/. = 2

She stood in it. Aisha stood in the tent.
a:‘ war 5 @, o, - e
_U.u.S:m Lg_s,l . u.n_ab.n_a‘) | > e LA:!JI! 3
He stayed/sat in it. Moha stayed/sat in his place.
u.u.i..g.} lﬂ! d,py# 3 Bf)_cy \.ﬂ! 4
He's in it. Bouazza is in the car.
REYR S ol & gl Uy s
It's in it. The soap is in the basin. ’

The preposition meaning "on" is 24— before a noun object, but 2 before

a pronominal object. "On the pillow" would be 1abw }-‘ ‘-—'ﬁ;\; "on it" &

Echo 23 )'s comment, using the pronominal form.

orie L) Mg Gl age Wed)
He sat on it. Moha sat on the pillow.

Let's listen to 23 )'s initial example once again and note what happens to the
pronunciation of the phrase ol gl a’A | Notice how the syllable structure of the
phrase lalugl a’a changes when it immediately follows a word ending in an open

syllable [i.e., ending in a vowel] like (s>ga:  Jaluglid Elase Lapd w,l :

ol O Ahaatd] Gl B5%en o) )
He slept on it. Bouazza slept on the carpet.
olie LS FETPU S L S T
He passed by his place. Zaid passed by his brother's place.

* This dialect pronounces this prepositional phrase as "gg"zam."
* In fast speech this sounds like "gwansans" rather than with the ending "nnes."

87



o Jl Solifale Vs A 3Tye g Jwsy 4

He asked about it. Bouazza asked about his cattle/livestock.
) a-... u‘! ‘L’_!ééu DR L),:G‘ Oat < n] m1 -5
It's on it. The water kettle is on the fire. /

u‘s (_]LA.M ‘7(_}“5‘3 LA.::} ALA_’G_GQ J" L)LA ?‘;A:‘.,ow‘l< \Bn’soal..! L)_u!
Semretifn YT dleel Ly o3l TN iy ol
n ] -7

Did you understand everything? If you didn't understand a word, ask someone [lit: he
who] who knows and say to him, "Hey, friend, I didn't understand this word. Explain (it)
to me, please."

2. More practice with the long and short forms of prepesitions. Listen and
repeat. Use the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.011, side B

The dialect used is from Uilp—e iy (Ayt 'Ayyash). There may be some
variations to what you learned in class.

Morphophonemic Drill 13
Shows the short and long forms of the main prepositions

fola) & sl o W ) g
Are there some guests in the houses (tents)?
SOt o ol o4

Yes, there are guests in them.

® In fast speech the pronunciation is "talmasitens” rather than with the ending "nnes.” This word comes
from the Arabic word for "cattle, livestock": 4xilall

7 See the Abrid 1 Student Book, page 66, for this construction. Other dialects say Jdiss ¢ W,

® Some dialects pronounce this word without a shedda on the (. Taifi lists the verb without a shedda.

? In the Part B reading of this answer, the speaker says this word as () :9‘—.'-)—"/3 . There are many variations

nen nin " n

to this word, and they all involve different orders of the "b" and "y" or "i" or "g" sounds.

88



. 910, v g
Is there some water in the well?

Oy S g ey

Yes, there's water in it.

Is there some livestock at Moha's place? or Does Moha have some livestock?
oo W) cag
Yes, there is (some) at his place. or Yes, he has (some).

Did he go to the city?

Liine x& b)) edy
Yes, he went to the city.

If the object of £ s non-human, it should not be made into a pronoun.

?.. o, o om ‘15‘} d‘}éha u.ul 5
Dld he return from the city?
U.\J.m L5J .\_\Jcb ¢ A

Yes, he returned from it.

® As Taifi explains on pages 620-621, some regions use:
noun that starts with a consonant ~ + S

noun that starts with a vowel + &l _) .
In the latter case, when the dependent form of the following noun is either a "u" or a "w" the

" n

sound of the "g" in "zeg" gets doubled and said with rounded lips: "zegg"." For example

e‘él 4 ) is pronounced "zegg“ham," and L &’ ) is pronounced "zegg“assa.'

iy d Wl ) 6
Did you (m.pl.) sit on the ground?
u.uJ.u: \.AJ.J_'I ¢ A

Yes, we sat on it.

' See the Abrid 1 Student Book, page 66, for this construction. Other dialects say oy O Ui,
" Other dialects say u»—SU which is what we've chosen for this course.
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ST G 158 el 7
Did he dig with a pickaxe?

12.1}’% } = | ¢4
Yes, he dug with it.

TR o0 s o] 8
Did he go with his friend? ,
Bl sl ¢ 4n
Yes, he went ;zvith him’.

AT G 13 o) 9
Did he go to the house (tent)?
-?B’T BN } 3}1 ¢ A

Yes, he went to the house (tent).

Like in number 3, if the object of (» (as a preposition of movement "to") is non-human,
it should not be made into a pronoun.

¢ Some dialects use exclusively £ asthe preposition of movement "to" or
"towards." Others use exclusively (»* as this preposition. Still others use J—& in front

of words that begin with a consonant and (* or (* )£ in front of words that begin

with a vowel. In all cases, the noun following the preposition of movement is NOT in its
dependent form.

* Be careful not to confuse the preposition (* (meaning "with," in the instrumental
sense) with the preposition (»* (meaning "to," in the sense of movement). This can

easily happen in dialects which don't use _)—£ as the preposition of movement.

"> Normally the form would be o) Ve | "igza iss," but because there are two vowel sounds together,
a"y" sound is added to make "i‘tza{ yiss."

"% There are a number of variations for the preposition & plus pronouns. For the third masculine singular
("with him" or "and him"), this dialect says I_ya’j_ , which can be confusing, since it shows no difference
between the preposition o+ ("with" in an instrumental sense) and the preposition 2 ("with" in an

accompaniment sense). Other dialects use: U+ % and o» 2] . We've chosen (s for this course.
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Abrid 3, Lesson 11 11 w33 5]
Review Exercises Lesson 11

1. Write the short form and the long form for the six main prepositions.
long form short form

A
.B
.C
D
E
F

2. Make 2 sentences for each preposition in its long form. Then make 2

sentences for each preposition in its short form. Be sure to vary the pronouns used
in the short form so that you practice all the different possibilities.

A
.1 : long form

.1 : short form

2

.B
.1 : long form
2

.1 : short form
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Abrid 3, Lesson 12 12 003 3 24|

Supplementary Material Lesson 12
(to be used at the end of lesson 12)

1, Moveable prepositions—their position in the sentence. Listen and repeat.
Use the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.011, side B

The dialect used is from Cila—e 2y (Ayt 'Ayyash). There may be some
variations to what you learned in class.

Sentence Pattern Drill 13

Position of prepositional phrase

These sentences show the different position that prepositional phrases (a
preposition used with a pronoun, not with a noun) take in sentences depending on
whether the sentence is a question or an affirmative statement. In an affirmative
statement, the preposition plus pronoun comes after the verb. Question words (and
negatives and tense indicators) cause the preposition plus pronoun to move to in front of
the verb. However, not everyone moves the prepositional phrase; thus, you will hear it at
times come after the verb even when question words are used.

Do you (f.s.) have a fever? PO S B e—i-jd o) b
[lit: Is there in you a fever?]
Yes, I have a fever. P L;—’..A UL cag
[lit: Yes, there is in me a fever.]
Do you (m.pl.) have some livestock? fdll W l—d‘/l O s o 2
Yes, we have (some). ICJJC ul ¢ Az
. ¢ 24 &
Did Moha go with you (m.s.)? f e o) Tol o) 3
Yes, he went with me. .3953 I O] ¢4

' Others say =i )& .
? Others say (i3 or 3.
* Others say s .
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Did his daughter go with you (m.s.)? foud ) O Ui ) 4

Yes, she went with me. S} Osas ¢ 4y
Did he speak about you (f.pl.)? ¢J J—wl CLE KT o) 5
Yes, he spoke about us. Sie J | ¢4z

Is it from you (m.pl.) that the relative is? Poan sl Ky US;'-" S 2 6

Yes, he's from us. / He's one of us. LK C——'—<—J~3 S ¢4z
[lit: Yes, from us that he is.]

2, Text. Listen and repeat, and answer the questions that follow the text. Use
the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.015, side B

The speaker is from Jile Gl (Ayt 'Ayyash). There may be some variations to
what you learned in class.

This text does not relate to prepositional phrases but rather is a review of sentence
connection and the present continuous tense as well as a chance to expand your
vocabulary.

Text 14

e )
e cole) Gl G g5t JlelT LS L
CEi ol 0501 o Ohle) o gl W e s

R - SV PSSO 1 B Obe ) o)

* There are slight variations in the pronunciation of this plural word for "men." For the most part in this
text, the speaker says a "g" sound: "irgizen." However, some pronounce this "iryizen" or "irizen." We've
chosen the latter for this course.
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Coadty 3 iRy ¢ (elita 'Su\i)”w S TS () 3

* This masculine plural pronoun "them" doesn't refer to the men or the women, but to the clothes, a
masculine plural noun. The translation is not "There are clothes for women, just them." The "just" doesn't
refer to the people. Rather, "There are special clothes for women" or "There are clothes especially/specific
for/to women."

¢ Some dialects would say this sentence connection verb as (—— , which is what we learned for this
course.

. G= or & are valid pronunciations depending on the region.
¥ After the relative pronouns = and g! , aparticiple is required. (The term “us contains L3 ) In
this case it is a habitual participle, meaning it is the third masculine singular continuous form plusa () at

the end plus the tense indicator 2. Even though the subject is plural ("those who") the participle form is
singular—it doesn't vary for masculine or feminine or singular or plural.

? This is third masculine plural: O + (OS5, This is also the one example in this text of sentence
connection using the continuous tense. We will have more examples of this in lesson 19 of this Workbook

but generally the verbs following the first verb use the tense indicator il (or Ji yinstead of 2 or J.

' This comes from (il Jb=1. Thetwo U's run together.

" The dependent form is used here: "tmddu¢s." But in order to pronounce the four consonants in a row, a
short vowel is added "temdduy¢," which is slightly different from the independent form "tamdduis."
 Because this word is said with a rounded & it sounds like (aliatui

** This form is due to sentence connection with the simple imperative (| plus the third person feminine
plural regular conjugation endings.

" This comes from aiow’ils S8 ) . Thetwo O run together.

3

" This word is pronounced with a "y" sound here. This is the same for all the forms <48 which follow.
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Grammar Explanation:

Habitual participles: After the relative pronouns = and gﬁl and when a question
word is the subject of the verb, a participle is required. In the cases in this text, itis a
habitual participle (since the meaning is regular, habitual activity) that is used, meaning it
is the third masculine singular continuous form plus a () at the end plus the tense
indicator 2. This participle doesn't vary for masculine or feminine or singular or plural.

Note the following examples from the text and questions. The subjects vary from
masculine singular to masculine and feminine plural:

text line 10 e Ol N ek lins 6 _ B
answer4  — OS5y questiond  — Oy
answer 5 B uuuLJ—J, 3 question 5 s Ql_",u._. @ B
answer 6  — G855 Y question6 — OS5,

The one exception to all this is in line 2 of the text: Ol—wd 3, This clearly should be a
habitual participle. Why it doesn't have the above form isn't clear. It's possible that it is a
mistake, since even native speakers at times don't always keep the rules.

Questions on the Text 14

S0 RS S T LT PR

_")...u".._jl.a’! Gl ard Jlew™) 1,5 L

'% This form is due to sentence connection with the simple imperative (& plus the third person feminine

plural regular conjugation endings. Doing this we would expect the form to be e , but some dialects
add an "i" sound making the form <3S,

"7 Because this word is said with a rounded # it sounds like (i~
¥ The dependent form is used here: "tmdint." But in order to pronounce the three consonants in a row, a
short vowel is added "temdint," which is slightly different from the independent form "tamdint."
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" The speaker exceptionally doesn't use a "g" sound when pronouncing this word.

0 This is a relative pronoun "that." See Taifi's dictionary, the bottom of page 1 and top of page 2. We've
seen this relative pronoun before as ¢ 1, but before the present continuous tense indicator the ¢ drops

out and just the 1 is used.
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Yocabulary

Verbs

10

The tape doesn't give the negative, but it's added here to make the 4 pillars of the

Tamazight verb complete. The verbs are listed in this order: simple imperative,

continuous imperative, third masculine singular past form, and third masculine singular

past negative form.

to wear v PR L“ﬂ‘j L or
to tie O30 oy \ O3 O3

to put shoes on

w

to tie a turban —29 g\ gy [

g

to dress up (3—‘445 A )8 \ 21(3—]A—‘j A Csl—l-AA“ A (.3—‘—“-‘ v

(for a woman only)

¢ -

iy = ow

to put a belt on

?! Since this verb is for a woman only, the third feminine singular is given instead of the third masculine

singular.
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Nouns

The nouns are given, and then there is a short phrase using the noun: There is/are
. From this phrase you can tell what the dependent form of the noun is.

clothes, clothing

clothes, clothing

trousers
shirt
jellaba

burnous, cloak

long white robe

turban, man's head gear

sandals

shoes

slippers

woman's dress

woman's overdress

type of sari draped or
tied over woman's dress

decorative clasps for
fastening the ) =¥

SPYIA NP Bl i
e od
.d‘ji)l-“ Lﬂ!

Tmas 8T 1005

-

LT I

4

DT Uy

w] we “a”e LJ‘
- f) ]“]'-ﬂ
Lﬁa}l! uL:]

-w‘.o.’ O o Ot v

?? Another valid pronunciation of this word uses an ¢ : < sta’ile.
A

~

% Another valid pronunciation of this word usesa 5 : <&y,

* Because this word is said with a rounded & it sounds like (wbiiemw™i
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embroidered cloth belt o e U! 2560_";3
leather belt MWarin % LI TS

scarf : uj‘)-‘—’-j)i [ ) Vb i S

woman's head gear .L'.\..\.\ i 5 LA™ C.\_._\.\a_l_.\.a_’l
nice clothes Lﬂ_!l_t_w._‘ [ S P |

bracelets U R RNCR [P 27‘.}’%:‘16—! kY]

earrings IR0 TV S G Sk | 28&_}““,’5 3
beads, necklace Oo=E )y U a4
J=>"< powdered L P Tl Py

antimony for
darkening eyes

veil i l—W‘I e““
wool shawl Gl T <) e

Expressions and particles

He's dressed up. it K |
She's dressed up. e ] L

w . o O

The woman is dressed up. .W-LJ—-'A—A—J éﬂ;'\

A =

in other words, i.e. A

2> This region uses a slightly different form from what we learned on page 85 of this Workbook.
%6 Taifi lists the dependent form as "tstawt,” but the speaker here seems to pronounce it as an a-constant
form: "tastawt."

%’ This region uses a slightly different form from what we learned on page 85 of this Workbook.
% Because this word is said with a rounded z , it sounds like s 3
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English Translation” of Text 14 and the Questions

Text Clothing

Today we want to talk a little about Berber dress, meaning about the clothes that
they wear. There are clothes especially for men, and there are clothes especially for
women.

Men, they wear trousers and a shirt. They wear on top of [or: over] them a
jellaba or two. They also wear a cloak on top of [or: over] the jellaba. There are those
who wear a robe or two in place of a shirt. They tie a turban on their heads, and they put
sandals or shoes or slippers on their feet.

Now as for women, a woman wears a dress, an overdress, and trousers. There are
women who wear a sari. They fasten it with decorative clasps. They gird themselves
with a cloth belt or a leather belt. They tie on a scarf or two. They also tie on their heads
(another type of) scarf. When the women dress up, (that is), wear [lit: do] nice clothes,
they put on [lit: do] bracelets, they put on [lit: do] earrings, they put on [lit: do] beads,
and they apply [lit: do] black coloring to their eyes. Outside the city Berber women
don't wear [lit: do] veils nor do they wear jellabas. When they want to travel, they wear
a shawl.

Questions
1. About what do we want to speak today?
Today we want to speak about Berber dress.
2. Are there clothes specific to men, and are there those specific to women, or not?
Yes, there are clothes specific to men, and there are those specific to women.
3. Do men wear a jellaba over a shirt?
Yes, men wear a jellaba over a shirt.
4, Who ties on a turban, is it men or women?
(It's) men who tie on a turban.
5. Who wears a cloak, is it men or women?
(It's) men who wear a cloak.
6. Who puts on [lit: does] earrings and bracelets?
(It's) women who put on {lit: do] earrings and bracelets.
Z With what do Berber women fasten a sari?
Berber women fasten a sari with decorative clasps.
8. With what do Berber women gird themselves?
Berber women gird themselves with a cloth belt or a leather belt.
9. Do Berber women put on [lit: do] a veil outside the city?

No, Berber women don't put on [lit: do] a veil outside the city.

10. What do Berber women put on [lit: do] when they dress up?
They put on [lit: do] bracelets, they put on [lit: do] earrings, they put on [lit: do]
beads, and they apply [lit: do] black coloring to their eyes.

# The translation is at times awkward and not precisely accurate, since there are often no one-word English
equivalents to describe the specific types of clothing. I've used shorter, less specific words rather than put
in whole phrases like "a sari-like piece of cloth” to describe an article of clothing.
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Abrid 3, Lesson 13 13 o3 a0

Supplementary Material Lesson 13
(to be used at the end of lesson 13)

1. Direct and indirect object pronouns together used with the present
continuous tense. Listen and repeat. Use the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.013, side A

The dialect used is from (il 'y (Ayt 'Ayyash). There may be some
variations to what you learned in class.

Sentence Pattern Drill 14B

Direct and indirect object pronouns used together

Most of these examples occur in sentences with the present continuous tense.

R S RS P IS ey I A
The water-seller sells water to people.
55 oAl
He sells it [lit: them, since (el is plural] to them.

.OTJ_’_A ’.‘: L.J‘ .-o! ...-o.el e} 0. @ n..’]
The religious teacher explains the Koran to people.

He explains it to them.

@, -

oinh i) O GE) ol
The harvesters transport the grain to its owner.
Ol Gty
They transport it to him.

s ) ol AT aanatl Ty

The religious teacher teaches the Koran to children.
S le) Gty

He teaches it to them (m.).

[

' The plural is o J—ﬁl . Some dialects pronounce the (1 , while others, like the one here, assimilate the

O into the d to form J .
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The traveling salesman sells clothes/things to women.
D355 Fanmnny

He sells them (f.) to them.

/ w. Ox O n"LA 1 ULA’F‘ O_\:}‘w n Ow e, Ol 2 ,r'; w..,l
The girls go get water for their mothers®.

.uL\;A_SlJ 4u._|_\_uy
They go get it [lit: them, since Ol | is plural] for them.

?U.ulﬂ.n l u\.aal \4_)_1 fa_SJJ u.ul
Did the girl go get water for her mother?
?V’i ¢ u_\_ub.u !

Did she go get it [lit: them, since Ok s plural] for her?

u»n_aLA l ULA! L_MJ__: (”4}' [ -
Yes, the girl went to get water for her mother.
M 9 ¢ Ay

Yes, she went to get it [lit: them, since (a1 is plural] for her.

2. Pronunciation when direct object pronouns are used with the present

th

continuous tense and the verb starts with a 2. Listen and repeat. Use the tape and

the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.011, side B

The dialect used is from Uil 'y (Ayt 'Ayyash). There may be some
variations to what you learned in class.

? One would expect a shedda on the first < since there is <215 + i , but the speaker doesn't
say it.

* The answer shows that these are a plural of mothers here. It is not just the mother of the girls but many
girls each with her own mother. However, for the plural one would expect <1 i w™i" sl 21 | instead
of what is written.

* One would expect a shedda on the first <& since there is O— + <iw’| | but the speaker doesn't say

it.
> The dependent form is used here "trbatt," but in order to pronounce the three consonants together a short
vowel is added to form "terbatt," which is slightly different than the independent form "tarbatt.”
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Morphophonemic Drill 12

Reduction of verb subject prefix "t" before verb stem initial "t"

The verbal subject prefix = is reduced before stem initial <2 in verbs.
This is contrasted with

no reduction of a direct object pronoun <

(masculine or feminine singular direct object pronoun < and <),

These sentences show the reduction (dropping out) or assimilation of the <2 of
the third person feminine singular conjugation pattern into the <2 that begins a verb. In
other words, whenever a verb begins with a 2 and the conjugation prefixes also

include a = (as in the case for the third person feminine singular and all second person
forms), the conjugation prefix is simply dropped (that is, reduced) or it becomes

swallowed into the < of the verb.
For example:
The girl takes the grapes.

] Wby g elnd

((ﬁju-:lJ :not) Lﬁjl—wﬁ_‘ 6 Lﬁj\—"‘+‘h+ _‘
continuous 3" person  tense
imperative  feminine indicator
verb stem  conjugation

prefix

The above situation is contrasted with sentences which have the <2 or < ofa
direct object pronoun which comes right before a verb that starts witha <2 . In this case,

the 2 of the direct object pronoun is not reduced, that is, it remains a distinguishable
sound. A short vowel sound is put between the two "t" sounds so that you can hear both
of the "t" sounds. (This is not followed by all regions. See Abrid 3 Student Book, page
62, footnote 1.)
For example:
The people take it (grapes,
a collective masc. plural).
O3 sl @l

The first "t" conjugated 3" person tense
sound remains. verb: masculine indicator
they take  direct object
pronoun
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«5 J\:\’! el
He takes it (m.).

ROV S O P G S R

The boy takes the grapes.

( Ju=a s a collective singular and masculine.)

When the subject of the sentence is third masculine singular, the pronunciation of the

direct object pronoun < is clear because the third masculine singular prefix "i" comes
between the pronoun "t" and the verb that starts with "t": latittawi.

She takes it.

#Jl:!:'_\_’j 6 Lﬁ_}w-{-ﬁﬁ- J

The direct object pronoun < is not
reduced. It remains a separate sound:
latettawi.

LS el
They take it.
Cislo Ol €@ cpelt oo O
The direct object pronoun < is not

reduced. It remains a separate sound:
latettawin.

g o
He takes it (f.)

REIE Y R St B i R
The girl takes the grapes.
L*EJ\—UV &= ng"l:\—i—f_l—f- i

The third feminine singular prefix <
is reduced: lattawi.

Al 0 gl 3
The people take the grapes.

6 2% 4 f 5 b 2
IS " B} Iy S AT
The man takes the dates.

( g;‘—..'—}j is a collective singular and feminine.)

When the subject of the sentence is third masculine singular, the pronunciation of the

direct object pronoun & s clear because the third masculine singular prefix "i" comes
between the pronoun "tt" and the verb that starts with "t": lattittawi.

% The "y" sound here (the second -+ ) almost has a "g" quality to it. Some pronounce this word g;'AeJ ;



She takes it.

Lﬁ_jlﬁm L= 95‘51:\+Zi:+ 1
The direct object pronoun < is not

reduced. It remains a separate sound:
lattettawi.

RUTE S
They take it.

L.J.-.’j‘:‘i—ﬁ &= Q,Uli"+b+3
The direct object pronoun < is not
reduced. It remains a separate sound:
lattettawin.

R i § R
He eats it (m.).

] .a.ﬁ“,. u.L R - (-.5‘91%.’} ‘5

The woman takes the dates.

Lﬁ}l—u’ 6 Lﬁ}lﬁl—&-&-}— :.‘
The third feminine singular prefix <
is reduced: lattawi.

The parents take the dates.

daal delt lmmn
The boy eats the grapes.

When the subject of the sentence is third masculine singular, the pronunciation of the

direct object pronoun = is clear because the third masculine singular prefix

"i" comes

between the pronoun "t" and the verb that starts with "t": latitetta.

1.-',. T~ '1
.

She eats it.

s ) @ Wiy oo 1
The direct object pronoun < is not

reduced. It remains a separate sound:
latettetta.

NEITE R R W e B
The girl eats the grapes.

Ly €& U ooy 4
The third feminine singular prefix <

is assimilated into the first <2 of the
verb: lattetta.

7 Other regions use the continuous imperative stem Wi 3 instead of i3 |
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9 S S R el 0l gl
They eat it. The people eat the grapes.
oo Gl €@ iy ooy
The direct object pronoun < is not

reduced or assimilated. It remains a
separate sound: latefettan.

Lan) e (o T AN g
He eats it (f.). The man eats the dates.

When the subject of the sentence is third masculine singular, the pronunciation of the

direct object pronoun & s clear because the third masculine singular prefix "i" comes
between the pronoun "tt" and the verb that starts with "t": lattitetta.

.1.—,. Ge T, /! . ,o...... WL w o ow 1..;, ;,..,] 11
She eats it. The woman eats the dates.

1»,,. Gp @, ’I e 1..4., :,,.+:.,_‘+ ;‘ 1..-,. m../! e 1\.‘-.. /,.+ L"_\_i_ J
The direct object pronoun <2 is not The third feminine singular prefix <
reduced. It remains a separate sound: is assimilated into the first <= of the
lattettetta. verb: lattetta.

9 S il P R I WP S 6 R )
They eat it. The people eat the dates.

e B RGN [ e e P T
The direct object pronoun < s not

reduced or assimilated. It remains a
separate sound: lattefettan.
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Supplementary Material Lesson 14

(to be used any time during lesson 14)

1. Text. Listen and repeat, and answer the questions that follow the text. Use
the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.014, side A

The speaker is from (il—e 'y (Ayt 'Ayyash). There may be some variations to
what you learned in class.

This text does not relate specifically to adjectives but rather is a review of
sentence connection and the present continuous tense as well as a chance to expand your
vocabulary. However, there are three regular adjectives in the text. Can you find them?

Text 12

Transportation

J u‘)ﬁ J LAN.&JJA}W_J: u‘:\._’.a O.__lj'\ew"\" ]L.IL..!'\:\GAGW\ é]

3 O el Gl prunTa et 20T § el skt

. - . w 0T, 0w, . 5 & vl oy . W “uo - w, w
O Gg e QI G P08 ahh W angth

o ', Ow

. W “wo - ., . ° N ; 6 . o 6 0p . w TE @ 5
Js 22 et u“);\s_‘ CT'D u;i.‘l L AR K% SN R U.ul_nl e )

! The dependent form is used here and every other time the word is used in this lesson: "tmdinin." But in
order to pronounce the three consonants in a row, a short vowel is added "temdinin," which is slightly
different from the independent form "timdinin."

? This is an example in this text of sentence connection using the continuous tense. We will have more
examples of this in lesson 19 of this Workbook, but generally the verbs following the first verb use the
tense indicator (or J1 in some dialects) instead of 2 or .

* Taifi lists this word as <2k 32w "Ikamyyuyat."
* After the relative pronoun 3 | a participle is required. In this case it is a habitual participle, meaning it

is the third masculine singular continuous form plusa O at the end plus the tense indicator 2. Even
though the subject is plural ("buses which go") the participle form is singular—it doesn't vary for masculine
or feminine or singular or plural. This occurs many times in this text. We'll study more about present and
habitual participles in Abrid 4.

* This comes from < 6 . The two ¢ sounds combine to forma & .

® The dependent form is used here and in every other time the word is used in this lesson (except for the
phrase <ain’e S inline 9 of the text): "tmdint." But in order to pronounce the three consonants in
arow, a short vowel is added "temdint," which is slightly different from the independent form "tamdint."
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" Both "id" and "idd" are valid pronunciations.
® This word for "also" is pronounced with a rounded "g" sound. Taifi lists the pronunciation as "agg“d" or
"agg"ed." It sounds to English ears like "awggd," with the "d" barely audible. Another variation is >3

"awd," which we have chosen for this course.

? The independent form is used here. Compare this pronunciation with every other time this word for "city"
is used in the text.

1 To separate the ending "d" sound of the previous word from the beginning "d" of this word, a short vowel

is inserted: "iddediZ."

' The first reading the speaker says this word, but the second reading he says the singular b’
2 This word is said with a rounded ¥ , and so it sounds like U\-,\—‘f:,! . This word is plural, and some
dialects would pronounce it e .

" This word can be pronounced either "iysan" or "igsan."
" 1t's not clear why this form is used here. This is a case of sentence connection. Given the two different
types (See the next page for the explanation.), one would expect not a simple imperative form here but

rather a continuous imperative form: (8- )7 .
"* The shedda on the initial <5 comes from the assimilation of the 2 for "and" into the feminine word
starting witha <,
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Grammar explanation:
Notice the two types of sentence connection in the text.

¥ First, there is the type based on verbs with the simple imperative form. This can
be seen, for example, in the pair

(] ) Qu and
second verb first verb
gl Pk B
second v:arb first verb

The second verb is formed by the simple imperative plus the regular conjugation prefixes
and suffixes. Because of the nature of this verb, the meaning is the present: "There are. ..
and there are ..."

2, Second, there is the type based on verbs with the continuous imperative form.
This can be seen, for example, in the pair
a5 O]
second verb first verb

The second verb is formed by the continuous or habitual imperative plus the regular
conjugation prefixes and suffixes but instead of using the tense indicators 2 or J , the

tense indicator ) is used. The meaning is the habitual continuous: "They ride ... and
they carry ..."

Questions on Text 12

?u.ﬂ.$ . 5 a OL L’)&J.owws u -1
skl o ST o EDlgeyth sl
foinnia & LT i ety Glale o

T R PLNGE - SNV e Gk
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' Technically with the dependent form this would be st 1 "i yiyyis." But with all the "i" and

" n

y" sounds together it's hard to distinguish exactly what is said.
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Yocabulary

Yerbs

The tape doesn't give the negative, but it's added here to make the 4 pillars of the
Tamazight verb complete. The verbs are listed in this order: simple imperative,
continuous imperative, third masculine singular past form [which the tape here calls the

"perfect"], and third masculine singular past negative form.

to mount ) ST R
to carry e 05\ ol
to divide Las-\a—‘}j 03\ L*-ﬂ-—‘l

Nouns

o we

Bt c,e—"
‘;&Nm Lé‘“/‘i
J " : » - j ” . -

The nouns are given in the singular and the plural, and then there are two short

phrases using the noun: There is/are
dependent form of the noun is.

Byseyth G dngeyh UL

Josd g sy

or Sl @il smlS U
hsdS gl sl U
wssh 2 g Gl U
Gl SUL @t WSl UL
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. From this phrase you can tell what the

COlsesds  Jugash

car

8] )...153 JISJ

bus [coach]

street

Sl Sk

taxi



glsd o g Yy gl g 5=

type, kind
C.T.M.—A bus company of Morocco el-):';w
PRV R e (9 Lﬂ\ (9 gl (99—
marketplace
N NI e A whalE O a0
eetlE g ghn) g O NG R g
paved road
‘HLG_'_] &y '\L_wj e Aty .\n‘ L (,;’;130.\“‘ L”\cn.:ga:o‘

beast [farm animal]

B T IRt R TR N T
flat saddle of cloth stuffed with
straw for a donkey or a mule

ASFLICCE N R ISPERTN

rope, reins for a donkey or a mule

_Lﬁuﬁ il _17L"1°L:,’\.3J;" O Lﬂ\:\);: .. o:.“):’
saddle for a horse

-

Logley gl aditef oLy Loste | 18 paliey

leather reins for a horse

7 Although Taifi lists the dependent form of this word as "trist," the speaker here clearly says "tarist,"
treating it as an a-constant noun.

'® Taifi lists these words on page 191 as Lase | saleTf,
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English Translation of Text 12 and the Questions

Text

In cities people ride [lit: mount or get on] cars, coaches, and motorcycles; and
they carry their things on trucks. There are buses which go from one street to another
street within [lit: in the midst of] the city. There are also coaches which go from one city
to another city. There are also taxis which go just within [lit: in the midst of] the city,
and there are big taxis which go from one city to another. As for the coaches, they also
are divided into types. There are big coaches like C.T.M. which go to every city, and
there are small coaches which go to markets. Cars and coaches go on the paved road.

Now as for outside the cities, people also still ride and carry their things on
animals. They ride donkeys and horses, and they ride mules. When they want to ride a
donkey or a mule, they put on it [lit: they do to it] a saddle [a specific kind for these
animals as opposed to the kind used for a horse] and reins [The word is singular. This is
also a specific kind of reins for these animals as opposed to the kind used for a horse.]
As for a horse, they put on it [lit: they do to it] a [another kind of] saddle [the kind for a
horse] and reins [the kind used for a horse].

Questions

1. What do people ride in cities?
They ride cars, coaches, and motorcycles.

2. On what do people carry their things in cities?
They carry them on trucks.

3. Where does a bus go?
It goes from one street to another within the city.

4, Where do coaches go?
They go from one city to another.
5. On what do coaches and cars go?
They go on the paved road.
6. What do people ride outside cities?
They ride animals.
7. What do they do to a donkey or a mule when they want to ride it?

They put on it [lit: do to it] a [specific kind of] saddle and reins.
8. What do they do to a horse?
They put on it [lit: do to it] a [another kind of] saddle and reins.
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Abrid 3, Lesson 15

1.

Review Exercises Lesson 15

Write the opposite of the word given.

“w © « oW

. i Py

-

2.

A Tamazight proverb’

B

.D

15 03 3 30

\.a;] A
QAN ¢
&5 E

B ESINC
G'iTya I
o3y K
Gl M
A737A 0
catila Q
B|F SEN
?\ PR U

Translate the proverb. What do you think it means? There are two "adjective"
verbs in the proverb.

ettt GbS) ds5R) )

" The proverb is taken from Proverbes Berberes by Fernand Bentolila, 1993, L'Harmattan—Awal, p. 132

#97).
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Abrid 3, Lesson 16 16 033 34|
Supplementary Material Lesson 16

(to be used any time during lesson 16)

1. Adjectives as verbs and participles. Listen and repeat. Use the tape and the
text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.007, side B

The speaker is from (ilae 'y (Ayt 'Ayyash). There may be some variations to
what you learned in class.

Sentence Pattern Drill 9

Stative verbs

These verbs describe states rather than actions. These verbs are the most frequent
way that Tamazight uses adjectives. The verb itself is the equivalent of "to be" plus an

adjective. Whereas an English speaker will want to use the Tamazight verb (3 "to be"
and add an adjective to it, this is not how the construction is usually' made. The stative

verb already contains the meaning of "to be." Thus, LAA1 means "It is hot." The
word 12525 means "Shefit is good."

Another way to form adjectives is by using the participle form of a stative verb.
The past participle is formed by taking the third masculine singular form of the verb and

addinga O "n" to the end. This participle then follows the noun it modifies and does not
vary with gender.> The noun can be either masculine or feminine, but the participle will

stay the same. Thus, L'J‘-&Dél J= means "hot weather.” The phrase
st | &L means "good girl."”

(The tape refers to the participle form as having the "fourth person subject

marker," that is, it has the pattern: O ...... ) . This is the pattern that marks or
identifies the participle.)

! There are some exceptions to this, where the verb & is used with an adjective; however, this is not the

most common way to form adjectives.

* Some dialects also use this participle to modify plural nouns as well. Thus, for these dialects, the
participle doesn't vary for either gender or number (singular or plural). Other dialects use a plural participle
to modify plural nouns, although it, too, doesn't vary for gender. The plural participle is formed by taking

the third person masculine plural form of the stative verb and adding (% "in" to the end. Thus, the phrase
Oilers Gla] means "hot water" ("Water" is a plural word in Tamazight.), and (358 08 35 means
"good girls."
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Participle

LT glala) Ja

This is hot weather.

L el Jd

e

This is cold weathér.

T 405 dast
This is good weather.

LT glhage ) Wl ya
This is a good/nice/pretty girl.

XY o) 3

He is a tall man.

o “E&

Ay T T T Y

He is a short man.

KT U, 3R) 50T

He is a short man.

Ak VKIS FiY

He is a strong man.

AE R PUEY YLy

This is a white wall.

Main verb

. dl;ﬂ Lo ]

The weather is hot. ’
The weather is cold.

dad dij)

The weather is good.

W ° o, O

b g2
The girl is good/nice/pretty.

.S A L_Q.;i w.)_cf - l
Haddou is tall.

Hammou is short.

S K ‘)il
Hammou is short.

gl J_@.__x|

Daoud is strong.

YL R Pty

The wall is white.

* The word &1 "aya" is not a verb and has nothing to do with the verb "to be." The word L "aya" is a

neutral (as opposed to either masculine or feminine) word meaning "this." Thus, the sentence here reads
literally "weather hot this." The verb "to be" is not mentioned but is understood: "hot weather (is) this.”
This is a non-verbal sentence (like many Arabic sentences with "to be" in the present). Sentence number 5

contains the verb "to be" L8] and reads literally "A tall man that he is," which is properly translated
"He's a tall man."

* The form here is technically uﬂeﬁj ,but the () assimilates into the J to give J.

O+ U = 0. )

® The form here is technically Oy _)$| , but the () assimilates into the J to give d.

7 The form here is technically (- ;—‘—M , butthe O assimilates into the J to give J.
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Participle

LTSt 90T

€
-

This is a black teapot.
LT O 8
This is a green field.

LT sty ST
This is bland tea (that lacks sugar).

This is delicious coffee.

LT Omad ) e
These are cheap oranges.

Wi ) aslS]

This is expensive meat.

AN EUSONIIN ¢
This is forbidden meat.

T glia ) S

This is permitted meat.

LT os ) oy Jd

This is not-good/not-nice weather.

Main verb

AD0T ey
The teapot is black.

ST Yy

The field is green.

;5\::‘ 9 WM }:”;A,l
The tea is bland (lacks sugar).

Jore il it lals

The coffee is delicious.

9 . T
st pad 2l
The oranges are cheap.

ST Xz

The meat is expensive.

_'_.Q J;‘(Alri e }uﬁli ‘a:)_aa/l

Pigmeat is forbidden.

(ST eS| s

Sheep (ram) meat is permitted.

du &;“;‘! S

The weather isn't good/nice.

(The tape stops before the end of Part B, that is, the second time through the sentences.)

PO+ 0 = 0.

? s+ is a masculine singular collective plural.
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2. Some Tamazight proverbs'’

You should understand the words, grammar, and structure of the proverb; learn its
meaning; learn appropriate situations in which to use it; and memorize it. Your teacher
or a language helper can explain the meanings.

I found something better. O W oxds A

[This is not a proverb, but simply a useful phrase using a participle as an adjective.]

Coffee doesn't go ‘)—e—i—‘ [P OV R S .B
with whipped milk. Ol e s

Whipped milk ( P ) is drunk fresh to quench one's thirst or to accompany

Gy }_)J (a type of porridge). Because <) is made from curdled milk, it can't join

with coffee in a homogenous mixture. You say this proverb each time you want to
emphasize an incompatibility.

Peaceful river, a river le 1% u-c-‘-m'j | £

-

which devours.

[lit: An obedient/submissive river is that which devours.] Compare this to the French
proverb "There's nothing worse than sleeping water." [Something may appear to be
harmless but is quite dangerous. The last word in the sentence is not an adjective, but it
is a present participle. We will do present participles later in Abrid 4, but the form is
simply the third person masculine present continuous, without the tense indicator, plus

o <&

"n" at the end. The reason it is used here is that after the relative pronoun (5 | or Ay
a participle is needed.]

The she-donkey said, "Since I z309 s “< R PR R "
gave birth I haven't drunk LS J‘ O] s s

clean water."

This proverb is often cited by mothers when they want to express the many worries that
their children give them. In this way, they compare themselves to the she-donkey who,
each time she stops at the edge of a river or a spring to drink, is beaten out by her
offspring who splashes about in the water and stirs it up.

' Proverbs B through D are taken from Proverbes Berbéres by Fernand Bentolila, 1993, L'Harmattan—
Awal. The translation and explanation of the proverbs given here are my English translations of what
Bentolila originally said in French. The following are the page numbers from where the proverbs and
explanations were taken: B, p. 129 (#75); C, p. 111 (#40); D, p. 135 (#2). Anything in brackets are my
additions.
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Abrid 3, Lesson 16 16 )y 33 Ry
Review Exercises Lesson 16

1. Transform the sentence into a phrase with a participle as an adjective.
Al E8) A
ey 0535 B

PPN UTC TR

Gha) o b

8 [EN le B

O w %8 7 0

_J‘ ot CaidTa .F

.g*r"-“—’wjj ‘ﬁ/! H

Oe | oD

OV =5 ghase g

.w-,. ° ] w -k \1 S Zn .L
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Abrid 3, Lesson 17

Supplementary Material Lesson 17
(to be used at the end of lesson 17)

17 0o 3 3 2,5

1. Dialogue.

MY Ui Elpan| o glali) ol Ok
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ool e WS 0 s g T sl : PR
O pse ST AT L g DOy OS]
e ] Al
.s—a“'} .e#}l (S S B v O BB B S PR Wy |
O ST e’ | rdal gy KT
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ol o 1 om WS Jlpe T rAaty oK
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=
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Laly a5 il

2. Take each of the negative imperatives in the dialogue and rewrite them as masculine
plural and feminine plural negative imperatives. To make the verbs into plurals, the rules are
exactly the same as with positive imperatives. See page 76 of the Abrid 2 Student Book and pages

78 and 79 of the Abrid 1 Student Book for a reminder of those rules.

feminine plural masculine plural
Gelii D) J.Jﬂi | I | ) jJ"i
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Diane
Kettou

Diane
Kettou

English Translation of the Dialogue

What do I need to know if I go to your country?

The first thing:
The second thing:
The third thing:
The fourth thing:
The fifth thing:
The sixth thing:
The seventh thing:

The eighth thing:
The ninth thing:

The tenth thing:
The eleventh thing:

The twelfth thing:

Is there anything else?

Don't eat with your left hand.

Never eat pig meat. It's forbidden.

Don't drink alcohol. It's forbidden and it's bad.
Don't whistle inside the house.

Never go to cafés. They're for men.

Don't forget to wash your hands before meals.
Don't eat outside during the day in the month of
Ramadan.

Don't forget to say "Bismillah" when you start
something,

Don't pour boiling water into the drain. You will
burn the jinn.

If you don't become a Muslim, don't enter a mosque.
Don't say anything bad [lit: not good] about the
King.

Don't get involved [lit: enter] in politics. It's
troublesome.

That's all. That's enough for today.
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Abrid 3, Lesson 17 17 w33 Rrgury
Review Exercises Lesson 17
1. Change the imperatives to negative imperatives. Write out the whole phrase.

Use a variety of negative imperatives: "Don't...," "Never...,"
"Don't...anymore/again," and "Never...anymore/again."

Remember!

T F orming a plural negative imperative involves using the same verb

suffixes as making a plural positive imperative.
T The negative _)jﬁ causes pronouns to move to in front of the verb in
the same way that 09 does. Treat them the same.
The negative ) Jﬁ causes the direction particles to move to in front of

the verb in the same way that U9 does. Treat them the same.

L oasdT A

e & clys g

457 G

AR

babiay | )sid] e ]
clalye K

124



2.

Translate the sentences into Tamazight.

Don't call us.

GRoi s GQlaw s N
=0

L
F
-

A
Don't call me.

Don't call them (m.).

Don’t call him.

Don't call them (f.). Don't call her.
B
Don't touch us. Don't touch me.

Don't touch them (m.).

Don’t touch him.

Don't touch them (f.). Don't touch her.
.C
Don't ask us. Don't ask me.

Don't ask them (m.).

Don’t ask him.

Don't ask them (f.).

Don't ask her.
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Abrid 3, Lesson 18

Supplementary Material Lesson 18
(to be used at the end of lesson 18)

1. Dialogue.

Gy &
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! There are a number of regional variations for the pronunciation of this verb (here in the third feminine

singular). Others include <353 and < s |

? Some regions don't use this expression or use this expression with a different meaning.
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p 2 Write down a list of all the adverbs in the dialogue.

.D .C .B A
H .G .F 2
L K J I
i 0} N M

English Translation of the Dialogue

I saw an accident.

Bassou i I saw an accident today on the road.
His wife : Really? How did it happen?
Bassou i A car came quickly, and another came slowly.

Suddenly the first one smashed [lit: hit with force] the second one.
The second one left the road and entered into the middle of the

café.

His wife : You're kidding!

Bassou i It's true (what) I'm telling you. I'm speaking to you in truth.
Unfortunately, someone in the café may have been injured.

His wife i And the one who came quickly, what happened to him?

Bassou : He didn't act right. He came out of his car and wanted to run away

secretly, but I saw him and caught him. Then he said to me, "I hit
him by accident." I told him, "Well, stay [lit: stop or stand] here
like you should. I will call the police."

His wife J Well that's amazing! And what are you going to do now?

Bassou i Ordinarily I need to go to the Commissariat in order to tell them
frankly what I saw.

His wife g May God save us from evil.

® The verb is a continuous form with a future meaning: "What are you going to do now?"
% The "y" sound is not part of the conjugation but is added to avoid the two "a" vowels from coming together.
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Abrid 3, Lesson 18 18 Ly e 2y
Review Exercises Lesson 18

1. Complete the sentences with appropriate adverbs. Choose from the list
below. There may be more than one correct answer.

Sl e lsie (u Jags
Ji (NN g Jes o
gl e Glala Jsiteal
=l glbhilh Glatils T
oD o el & BETSRNE"
el aa bl & ULV g
oluyi el e L N
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Ll Ay Ay A

B lalaly e )yshead ¢
elﬂl-f- J s D
ICTEREC) QR Y PRV Fanli
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2. Note the formation of phrase "by accident' or "not on purpose" or literally

"in spite of myself/yourself/himself etc.""'

indirect object pronouns  + Jatd

O s g W
SRR IS e PO I

' Some regions don't use this expression or use it with another meaning. Verify the meaning with those
around you.
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Abrid 3, Lesson 19 19 w33 4,40

Supplementary Material Lesson 19
(to be used at the end of lesson 19)

1. Sentence connection and the present continuous tense. Listen and repeat.
Use the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.016, side A

The speaker is from um;..‘—-c "—‘—..‘}i (Ayt 'Ayyash). There may be some variations to
what you learned in class.

Extended Sentence Patterns 2
Conjoined verbal sentences
Changes in verb stem forms that occur in sentence connections

These sentences show what happens to the conjugation of the verb in an extended
sentence or paragraph. If there is a series of verbs in a sentence or a series of related
sentences, the second and subsequent verbs are conjugated differently than the first verb.
The change usually occurs in the verb stem, but in the case of imperatives the change also
occurs in the conjugation prefixes and suffixes.

In the exercise below two independent sentences are given. Then they are
combined into one extended sentence and later into a small paragraph. Repetition is
avoided by leaving out identical phrases and by using pronouns.

The sentences below focus on the present continuous tense. In that tense, the verb
form stays the same in the verbs after the first verb, but the tense indicator changes from

- (or in some dialects 5) to )1 (or in some dialects JI ). (What appears below is
just the portion of this drill which applies to the present continuous tense.)

O3 O OV o 2l & 30 L
On the holidays people's hearts rejoice.

UJ‘J._Q‘ Ol e™ alia & gy
On the holidays enemies forgive each other.
Ol 3 o OV ot Ll d 3
O ge )

On the holidays people's hearts rejoice, and enemies forgive each
other.
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Ol 0 e i USED atd & g3y
On the holidays people visit at other people's places }
L] o 03w plal el d 34
On the hohdays people make each other happy with presents i
su.l.\_ua_i uJ_.e J_c u..h...A uu_l_‘ .J\_\_a_.j é\ 35

“€

< J ;_6__‘ e U_A\ J——Q—HLA:\ i) ]
On the holidays people visit at each other's places and make each
other happy with presents.

Gl ST (g O OV ol At 3 36 N
COfitan G e 03 LSS G llale
auﬁ/a ’] w "‘ os o0 o ﬁ,«:)’i

On the holidays the hearts of people rejoice, and enemies forgive
each other. People visit at other people's places and make each
other happy with presents.

2 Text with sentence connections. Listen and repeat. Answer the questions at
the end of the text. Use the tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.007, side A

Text S
The subject of the Berbers and Islam

u,.e’p 2. w N ow 7 . w ‘e i = oy - o P *
u_njjl_ﬁ ¢ uu‘j_:_‘ l.ut___xl U—A_‘_u_\'! HJLA!

P N 2 3" S S SR PP Gl SR I Y

LT s o+ 1, literally "that they (m.) are." The & in the verb "to be" is pronounced like a & .

* The present continuous tense here of the verb "to pray" is technically o\—’\ljlﬁ witha < "t," as we
have written it. However, when a < comes before a ) "z," the voicing of the ) turns the < intoa
sound.

* Another variation for this verb is QL3373

* The genitive & meaning "of" has dropped out of this construction. Some dialects keep it and say

« }—L—\l O e ST "the meat of the pig." Other regions use the word 3 s for "pig."
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Questions on Text 5

ooy e Omacllnl ""! ",_u"gu’! O\ o] 1

N e o B IR
S0k ) oL 55 3 o) 2
or u—*:.ul-él O3 Ay
O can o Sotile) O5ET cag

> The masculine plural form is technically ()~ , but the ¢ assimilates into the J to give . Justa
comment on the meaning of this phrase: literacy rates have increased since this was recorded in 1970. A
sweeping statement like this is no longer true.

¢ A word that is also used for religious teacher is <~ (singular) and LWl\"h (plural).

7 This form "nnbi" can also be pronounced (s~ "nnabi."
¥ The present continuous tense indicator can vary by region. In the text and in the questions, two different

indicators are used: both the 2 and the 2. The use here, however, is not just random. In this region, the
J s used in normal grammatical contexts. The 2 is used only after the negative L9, after the relative
pronouns = and c=9‘| , and after question words. Why the 2 is used in the first response of number 2 is
not clear, since it doesn’t fit this pattern. Every other use in this text does follow the rules.

132



foomd osgle) Olwd )

Cod ORgle ] ey g o

S P SN YL s e e o)

RS PUEEN PP e PRI
S R P TR

fasla] sl () aalu) L)
(U P EPY PP Y Ry P Ay
foo—d Ua) )

s e W oy,

oS Ul s e s

¢t LREL L

P R R S SNV RG T | G S P SV

e) S & gllEL

S G G 0B M il g Ko U
4l USH) L

0585 ) A 1T 0he o L3

133

.10

11



New Vocabulary Found in Text 5

Verbs’
to pray l—“ i UUA

e

tofast  psotS e

1o play L‘_im ‘_..\;a_o‘

to observe, abide by

to cause to be forbidden e‘)iw (-\#w
to forbid (something)

° o - 8

to be forbidden by~ al =" p—
religion

w

to be permitted by a3 LUla
religion

to read, study oL );c-

10 o4 @ Y]
to cause to understand eLH—“ b

to explain

e] 0 T - o

° @ ‘. ©

to understand

to cause to read or study

to teach
Particles
nor, neither Y 9
that, which, whatever L
only, just u»u‘—
even if, although PiE S

Nouns

Muslims (m.pl.) (e’ |

a Muslim (m.s.)

/So D"T

a Muslim (fs.) a3
( Muslims (£.pl.) (el )

Ramadan

religion

alcoholic drinks
liquor

pork, pig
gambling

God

religious teachers

a religious teacher

the Prophet

each, every

village

mosque

Oba’a )

G

< o w g,

e
Cagla
TR

G =

w J
1 “ee B a!

P2 )

‘JﬁH

? The tape says the verbs are listed in the "simple imperfect stem.” This may have been just an error. Instead,
we are using the term "simple imperative form." What the tape calls the "iterative," we are calling the

"continuous imperative form." The forms here are imperatives (commands), but we've listed the English as
the infinitive. In order to be complete, I've also supplied some verb forms which aren't mentioned.

' There is a variation which doesn't use the shedda: eLﬁ—‘;“' 6—8—‘—“‘
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English Translation of Text 5 and the Questions

Text

Berbers are Muslims. They (m.) pray, they fast Ramadan, and they observe their
religion.

They don't drink alcohol, nor do they eat pig meat, nor gamble [lit: nor play
gambling], nor do what God has forbidden. They do only what is permitted.

Even though they don't know how to read'’, they have religious teachers. The
religious teachers, they explain the word of God and the Prophet. There is in every
village a religious teacher, and there is in it a mosque. [lit: Every village, there is in

it....] The religious teacher leads the people in prayer, and he teaches the Koran to the
children.

Questions
1. Are Berbers Muslims or not? 10.  What is there in every village?
Yes, Berbers are Muslims. There is in it a religious teacher,

and there is in it a mosque.
2. Do Berbers pray?

Yes, Berbers pray. 11. What does the religious teacher do?
Yes, Berbers pray. He leads the people in prayer, and he
Yes, they pray. teaches the Koran to the children.

3. What do Muslims do during Ramadan?
They fast.

4. Do Berbers drink alcoholic drinks?
No, Berbers don't drink alcoholic drinks.

3. Do they eat pig meat?
No, they don't eat pig meat.

6. Do they gamble [lit: play gambling]?
No, they don't gamble.

7. Has God forbidden pig meat?
Yes, God has forbidden pig meat.

8. Are alcoholic drinks permitted?
No, alcoholic drinks aren't permitted.

9. What do the religious teachers do?
They explain the word of God and the Prophet.

' Literacy rates have increased since 1970 when this was recorded.
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3. Proverb'? using in-law vocabulary.

You should understand the words, grammar, and structure of the proverb; learn its
meaning; learn appropriate situations in which to use it; and memorize it. Your teacher
or a language helper can explain the meanings.

w °

The in-laws come before the bride. = 3 13[)3}33 Y guia |

The choice of one's in-laws is very important because the girl one marries will be the
simple reflection of her family circle, the product of her upbringing.

4. Vocabulary definitions in Tamazight.

The following definitions are adapted from a Tamazight dictionary' that defines
the Tamazight words using Tamazight. In other words, it is a Tamazight—Tamazight
dictionary. A sample sentence using the word is also given. See what you can
understand and how with the words you know in Tamazight you can define other words.
If you don't know a word, try looking it up in Taifi's dictionary before you read the
footnote or translation.

The author is from JLéi);ﬂ Sy (Ayt Merghad). There may be some variations to

what you learned in class.

¢ T ! Lk \,L';"' e o8 B, — oo
Lo ol o ST o AENY Gy G B

“. ° ; se . 17 o
. Gendre | Gy ) y a5 ¥ gl 4553—,15—-“4

' This proverb is taken from Proverbes Berbéres by Fernand Bentolila, 1993, L'Harmattan—Awal, page
132 (#93). The translation and explanation of the proverb given here are my English translations of what
Bentolila originally said in French.

¥ There are numerous regional variations for how to conjugate the verb "to be first." Two others that are
valid are (=30 and (DVs) .

'* The dictionary is Dictionnaire de Tamazight: Parler des Ayt Merghad by Ahmed Haddachi, 1978
(Although it reappeared on the market in 2003.), no publisher given. The dictionary is all done in Latin
script. At the end of each Tamazight definition a brief definition is given in French. The definition of the
first word comes from pages 5 to 6, and the second word from page 25.

' We learned the word (5= for "one." Here the meaning is "someone."

'® The simple imperative is (9~ . We learned the third masculine singular as ()3 |, but this dialect

makes a stem change for the simple past and says Q\A’l 3

136



O &

COml ol DT (stes B 93y —
D3 & Py ST X)) 8 s
Uiy :3333‘,1 OT o HMosaltitn g el
ettt Pty
K55 0 oealilis okl Uy : &5 ¢ ]
O o s s
W T o sl Tl gy et

. Vieux, chef, doyen t”_\:_ug.._uﬂ"“g' % Ui)‘ o ! T *-‘;o ,i

"7 This is the Tamazight word the dictionary has chosen to indicate the technical grammar term "plural."
This is a new and made-up word. Ordinary Berbers wouldn't understand it. Many new words are currently
being invented by scholars to function as technical terms. The degree to which these will catch on and be
understood by ordinary people remains to be seen.

** For this preposition we learned ) .

*” Taifi lists this word as "Douar, the tribe gathered together with its tents and flocks." Some native
speakers did not recognize this word.

* This is a past participle functioning as an adjective.

?! The vocabulary word here is: (ala’is @  BLas () - Taifi lists the word as meaning "power,
command, authority, decision, resolution. Also: matter/business."

2 The simple imperative of this verb is <=2 | "to divide, to separate, to share." The form here is a
present participle: the third person present continuous tense (without the tense indicator) plus O . A
participle is used because that is what is required after the relative pronoun s "the one who."
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English Translation of the Definitions

One of the wife's family to the husband;

One of the family of the husband of someone's daughter.
He went with his (male) in-law.?

Plural: C)\J}#ﬁl . French: Gendre.

(It comes from ) P .) An elderly, aged [lit: big, in terms of

agel, old [lit: big, in terms of age] man in a Douar

(or tribe), a man who has passed [lit: having passed through]
through [or lived] a lot of his life.

The chief of the responsibilities/powers of those of the Douar: he
who divides up [assigns, parcels out] their responsibilities/powers.
The chief of irrigation: he who divides up [allocates] the powers®
of the irrigation canal and the water for [lit: of] the fields.

The father-in-law of the bride: the father’® of her husband.
Plural: ())la—a | . French: Viewx, chef. doyen.

2 As we learned in lesson 19, this can mean "father-in-law, brother-in-law, or son-in-law."

* This definition starts with the non-family meaning of the word, but gives an example of the family
definition at the end..
% In the sense of who gets what amount of water and when (according to what each individual has agreed
to pay) and in the sense of settling disputes that arise about water allocation.

%% The word used here, <L | by itself doesn't mean "father." It means "master” or "owner" or "possessor."
However, in this context it is very normal and understood to mean "father." There is no other nuance here
than simply "father."
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Abrid 3, Lesson 20

Supplementary Material Lesson 20
(to be used at the end of lesson 20)

1. Dialogue. Circle all the compound nouns. Are they singular or plural

masculine or feminine?

- an..f!f ’\1:' “

?Aﬂ“,'e"", U“! _e)“...\\ {\<°J'\’e

o b ¥ fu)nn ol S
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JL&A? e g Aczl _);t: @3 Lsgu cbl : ULLS_I“ .

Store owner
Customer
Store owner

Customer
Store owner
Customer
Store owner
Customer

Store owner

Customer
Store owner
Customer
Store owner
Customer

Store owner

Customer

SRt s T g b g : Gglaly g
Al 2 alatin : o<t

RPEU I JRES VR SIRLEN Y
ool By oo b il ; olls

English Translation of the Dialogue
The world has stopped.

Hello. [lit: May peace be upon you.]

Hello. [lit: Upon you be peace.] Are you in shape?

I'm in shape, praise and thanks be to God [lit: We praise God and
we thank him.]. How's the family? Are they fine?

They're fine, praise be to God. And your family, are they fine?
They're fine, thank-you [lit: May goodness ask about you.]
Where are the taxis today? They aren't any.

The taxi drivers, they're on strike [lit: They are doing a strike.]
This is a problem. My landlord told me that even the bus drivers
are going to go on strike [lit: are going to do a strike].

Well, that's life. The owner [female] of the restaurant, the one next
to me, told me even (public) office workers are going to strike [lit:
are going to do a strike].

Well, maybe next week the unemployed will go on strike [lit: will
do a strike] !

You're right! May God protect us!

Well, I'm off to work [lit: Here I am going to work] on foot.

Go in peace, O pedestrian.

Stay in peace [lit: And you stay with another one, that is, another
peace].

Greet your wife.® [lit: Transmit greetings to the woman of the
house.]

Okay. [lit: May goodness and what is nice be transmitted to you.]

" The two "u" sounds run together to sound like one word: "budar."

> This comes from e‘i-’i O Y, but some regions don't pronounce the (.

3 In traditional culture, the store owner is not going to comment about a customer's wife like this, unless
there were some particularly close relationship between the customer's family and the store owner's family.
The sentence is included here just to use the feminine headword in a compound noun.
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2 Vocabulary definition in Tamazight.

The following definition is adapted from Haddachi's Tamazight dictionary”
(described on page 136 of this Workbook.). Sample expressions using the word are also
given. See what you can understand and how with the words you know in Tamazight

you can define other words. If you don't know a word, try looking it up in Taifi's
dictionary before you read the footnote or translation.

The author is from & )—A <y (Ayt Merghad). There may be some variations to
what you learned in class.

RSP TPREAIUL SN TPRRT. ‘Sl o Ly — g
3O Seaki]
Jhal SOl o ghae) @nf s digdy @b

¢ A3y @ s T Uhle

0, 7 04 7y

. Ceux de, ceux qui ont . ‘Db 38

ol Page 65.

% The form of t}gis verb is due to sentence connection. From what we have learned, we would expect the
formto be =S , the simple imperative plus the third masculine plural ending. However, many people
add (= instead of just 0. That gives here =S "and they are."

® This is the Tamazight word the dictionary has chosen to indicate the technical grammar term "plural."
This is a new and made-up word. Ordinary Berbers wouldn't understand it. Many new words are currently
being invented by scholars to function as technical terms. The degree to which these will catch on and be
understood by ordinary people remains to be seen.
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English Translation of the Definition
e 3 — Those to whom something is theirs and they are its. Plural of $2 .

Those of the word [that is, proverb or story tellers]; those of the
donkeys [that is, donkey drivers]; those of the foot [that is,
pedestrians].

[Various tribes: | Ayt Yafelman, Ayt Merghad, Ayt Ufella [those
from on top/on high], Ayt 'Atta n Umalu [those of 'Atta of the
shade], Ayt Izdeg, Ayt Seghroushen, Ayt Sgugu, Ayt Bugemmaz,
Ayt Sukhman.

French: Ceux de, ceux qui ont.

3. Some Tamazight proverbs’

You should understand the words, grammar, and structure of the proverb; learn its
meaning; learn appropriate situations in which to use it; and memorize it. Your teacher
or a language helper can explain the meanings.

a wise man, a proverb teller J 3‘ 95 & A
Jids o <

[These are not proverbs, but two different ways to describe a wise man or the (unknown)
person in the past who said the proverb that you are about to cite. The first phrase literally
means "he of the word," and the second means "the master of the word."] Different

formulas are used to introduce proverbs. One of those is: J j‘ 5 & uﬂul , "the wise

man said," or J J‘J J - uﬂu l , "the master of the word said." [Literally the

phrase reads "The wise man said fo him." This inclusion of an indirect object pronoun in
this type of sentence is often not translated. No "him" is being referred to. It is just a set
expression. Sometimes the second person masculine singular indirect object pronoun is

used this way as well: QLS | or Sl | is an "expression used to introduce a fairy

tale" (Taifi, p. 457). kDT O L—-‘\ bl | can be translated "Once upon a time
there was a man...."]

7 Proverbs A through F are taken from Proverbes Berbéres by Fernand Bentolila, 1993, L'Harmattan—
Awal. The translation and explanation of the proverbs given here are my English translations of what
Bentolila originally said in French. The following are the page numbers from where the proverbs and
explanations were taken: A, pp. 93 and 135; B, p. 156 (#40); C, p. 155 (#34); D, p. 110 (#33); E, p. 137
(#11); F, p. 153 (#21) and Annex (#13). Anything in brackets are my additions.
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The guest chased away the P Y RRRL ¢ Ml B
people of the house.

The Berbers' rules of hospitality forbid them to reproach a guest, even if he is
inconsiderate. It's the guest's responsibility therefore to know the code of manners and to
respect them.

It's the owner of the calves who is O Hsas IO <b B L &
angry, not the owner of the field. S SR PR PR | IX’

[lit: The owner of the calves is angry; the owner of the field isn't angry.] There are often
conflicts which pit farmers against each other concerning livestock which go graze in a
neighbor's field. Therefore the one who has the right to complain is the owner of the
field. Here, paradoxically, it's the aggressor who gets angry, not the aggressed.

God gives bread in abundance ' 23 )—Ci gs-i' J \—WS\:J K IS .D
to people without teeth. oz ) 3 ) wale

-

[lit: God doesn't give bread except to those without teeth, or God gives bread only to
those without teeth.] The bread [in this proverb] can be a material benefit, good fortune,
a lucky break which happens to someone who doesn't have teeth (who doesn't have the
desire, possibility, or the means to take advantage of it).

There's no puppy without teeth. wobkela DS) A s E

You say this proverb when you are surprised by the severity, even the meanness of a
person that you thought until now to be meek and nice. We conclude that "meanness is
learned without a teacher."

As the rat said, "The one who caunl gm st e U‘“L'ul F
has one way, may God close e i uﬁ’l Sl

it on [lit: to] him."
For every problem you need to think of several solutions. If not, you'll become stuck and
find yourself without a way out. Compare the English "The mouse that has but one hole

is quickly taken." [Taifi, on page 202, gives this explanation: the proverb is "said with
the meaning "There's always a way out.' "] Another way to say the same proverb is:

"= O] @lud waf ogw ode W), Uyt e odilh)
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Abrid 3, Lesson 20 20 Ly 33 -\e)lﬂ
Review Exercises Lesson 20

i Fill in the blanks with appropriate headwords to form a compound noun.
Put an "X" in a blank where nothing should go. There may be more than one
correct answer for some.
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Abrid 3, Lesson 21 21 w3 3 3|

Supplementary Material Lesson 21
(to be used at the end of lesson 21)

1. Text. Listen and repeat, answer the questions at the end of the text. Use the
tape and the text that follows.

Adapted from the University of Wisconsin course, tape TZ1.001.016, side B

The speaker is from Jile G (Ayt 'Ayyash). There may be some variations to

what you learned in class.

Text 15

OAET ) 2 ohbatay

QB oS pake) ye QRS o oty olie
) Ty <y 5‘ w:,a.‘! J @, ‘.:jl-j.l_onl L)_ui)}_': OU
W) oalms o oalaB gilate) Sobate) il olBL

2o (oA 1 peees s em L g e . .
W—}J‘L—J—'&\—N.MLAJ!U_JMJ@_A:

rtes
G el o iy @i olaliay) e o)

il gllaletny S cyied O s o Wlith 5 (a3

R I U ST SNV it S+ I8 £ “ v 5. % g T
Ot U251 U = B C0sS D O0kae) Dlilend

' This is a relative pronoun "that." See Taifi's dictionary, the bottom of page 1 and top of page 2. We've
seen this relative pronoun before as q;\ , but before the present continuous tense indicator the 4_5 drops

out and just the 1 is used.

> This is a habitual participle (third masculine singular present continuous plus & plus the tense indicator
3 ). The relative pronouns = and Lﬁl take a participle after them.

3 In this dialect apparently the verb O s\e takes indirect object pronouns, although we learned in the
course that it takes direct object pronouns. Taifi lists an example where the verb takes direct object

pronouns.
* This is a habitual participle.

> This comes from O3+ &) . Thetwo ¢ sounds combine to forma _§ .
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Questions on Text 15

fOosile) & OOase) 5 QAT Olae ST RN
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® In the first reading the speaker says here the word (33— . During the second reading he says (5= .

" This is a past participle with a passive verb. We'll do passive verbs in lesson 24.

® In real slow speech this would technically be (——i"t33L3"a 3 | but the sound of the two ('s merge
together.

? In real slow speech this would technically be uﬂ—\-—u-é—wl , but the sound of the two ('s merge
together.
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Vocabulary

Verbs

The tape doesn't give the negative, but it's added here to make the 4 pillars of the
Tamazight verb complete. The verbs are listed in this order: simple imperative,
continuous imperative, third masculine singular past form, and third masculine singular
past negative form.

to be plenty Sxe) s\ ‘3—";} PR s3ic
to help oste) oy \usle) Ol gl O sle
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to take
here: to consist of

to concern

to travel

to record

S 03\ s
Lala) s \ L
ey s\l

dam) s V)

to be famous )—e—ﬁ'ﬁl BT _)—e—ﬁl 3:!!

to hear

to cut
here: to compose

to hit
here: to play a
musical instrument

e ST S|

) o5\ )

Sl s\ @l

Nouns

The nouns are given in the singular and the plural. For completeness I've added a
few plurals that weren't given on the tape.

poet

tribe

poet

poet's companion

poem

Se) ERCY
TR o
pealal)  palal]
SIS PN B SROC

'° The speaker seems to say a shedda on the U in the simple imperative, but I've not included it because
Taifi doesn't have the shedda and the speaker doesn't use a shedda in the text. However, these types of

variations do occur. Ayt 'Atta, for example, uses a shedda in this word, and Laoust, in his Cours de
Berbére Marocain, lists this word as having a shedda. Taifi also lists a variation for the continuous

imperative form: WL,

' There are a number of variations for this simple imperative. Taifi lists <5 "ut"and <5 "wet."
Third masculine singular variations include <32 and s
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religion Gl or rd 9 Om 3

politics b

matter 9 e

mankind a L

broadcasting system Slela] efal
poet-singer O LS | AL

song, or verse of a song oY) P iy |
refrain, tune g

violin | S W R ]| [C PN

three-string guitar el 3] e gl

drum O JJT ) }—”

° €

companion O g | Oy |

Particles and Expressions

either ... or PRV e
The singer composed a song. g )/l AL L“rwil
The poet plays the violin. JENE SN R FLRPY S B
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English Translation of Text 15 and the Questions

Text
Poets and Singers'?

Poets and singers are numerous among Berbers. Every tribe has its poets and its
singers.

What are, first of all, imdiazen? Imdiazen (perform) in threes [lit: are/exist with
three]. There's the §5ig [poet] and two irddaden [poet's companions]. The §§iz , he's
the one who says the poem'?, and the irddaden help him. The word(s) of the poem
consist of religion, politics, and matters of the world that concern mankind. Imdiazen
travel from one market to another reciting [lit: saying] poems to people. Imdiazen who
are famous record their poems for the broadcasting system of Rabat so that all people can
listen to them [the poets (m.pl.), not the poems (f.pl.)] on the radio.

Now as for in§Saden, they compose songs and say them at an Ahidus dance [lit:
at Ahidus]. They also compose a refrain about which the songs talk. The §§i7 imdiazen
plays the violin when he speaks. As for the an§sad , he plays either the violin or the
three-stringed guitar, and his companions play the drums.

Questions

1. Are singers and poets numerous among Berbers?
Yes, singers and poets numerous among Berbers.

2 How many are there in the imdiazen? [lit: How many are the imdiazen?]
There are three of them. [lit: They are/exist with three. ]

3. What is a §§i7 ? A §5i7 is an amdiaz who says the poem.

4. What do irddaden do? They help the §5i7 .

. About what do the word(s) of the poem consist?
They [lit: it] consist of religion, politics, and matters of the world that concern
mankind.

6. What does an anssad do? He composes songs.

7. . Does the §siZF play the violin?
Yes, the §§i7 plays the violin.
8. What does the anssad play?
He plays either the violin or the three-stringed guitar.

' Exact definitions of these words, especially given the distinctions between them, are difficult to give in
English or French. For these reason, since the text tries to explain the differences between the two, for the

most part I've left the words in their original Tamazight. The speaker on the tape defines )43« as "poet"

and ST as "poet-singer." However, Taifi defines the former as "singer-composer or bard" and what

he says as "a long poem that is sung," and Taifi defines the latter as "singer-composer, poet, teller of
odes/poems/songs, minstrel." It seems that the differences between the words have to come from their
description in a text and not simply a one-word English translation.

" Taifi defines this word as a "long poem that is sung."
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Abrid 3, Lesson 22 22 e 3 3 aal

Supplementary Material Lesson 22
(to be used at the end of lesson 22)

1. Dialogue. Read the dialogue and list all the causative verbs. Find them in
Taifi's dictionary. What page are they on?

Adapted from the Peace Corps course, page 120

duily e JilTlle) oL lay

fUl ke ¢ L= Doamaln e g ol

RCIPE S R WUy B Y : gl

NP - J I T W Y sle Sl S Y S N R R T Y
LS ¢ aual AL

G () ag u.u_.\_ah_c1 | ST Doaalh a Ay et

Note: There are many regional variations for derived verbs. The two main areas of
difference are the vowels and the use of the shedda. In the case of causative verbs, some
regions begin the word with just —, others with — . In the same region, one verb may

have the shedda and another verb may not. Thus, the use of the shedda is not uniform for
every word. It is important to verify with the people around you what they say.
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Page in Taifi's
Dictionary

p. 565 RD 2ms (2 verbs together) ;] _)—*-“a—-‘ i

Conjugation Causative Verb
(ex: 3" m.s./future)

English Translation of the Dialogue

Ali and Brahim's mother
Ali
Ali and Brahim's mother
Ali

Ali and Brahim's mother

Your Clothes are all Dirty
[lit: Your clothes are dirty with dirt.]

Ali, where's your brother?

He went to play soccer.

See who's knocking at the door.

(It's) Brahim, my brother.

Look ! Your clothes, they are all dirty. [lit: Your
clothes, they are dirty with dirt.] You're such a
donkey! [lit: It's a donkey that you are.] Go wash
(yourself) so that I can dress you (with/in) new
clothes. Ali, take the kettle for your brother so he
can wash. Me, I'm going to cook dinner.
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2. Dialogue. Read the dialogue and list all the causative verbs. Find them in

Taifi's dictionary. What page are they on?

Adapted from the Peace Corps course, page 127

A alels

TR PN R T I USR JETE G

Sas F el
PR TIN! 24l

ol AT Rl Aty
fa el

2l 2oaa]

UL N

Podayu) ail
g S IR B R S L
SASRIL ] e

"The word (> 273 means "never," but here it doesn't mean "I've never seen you before." Rather, it is
used as a stronger negative than just the normal Ly . Thus, it is a strong way to emphasize that "I haven't

seen you in a long time."

® Other regions say (s« . This functions as a way to ask a question to make sure of something. It can
be translated "So you're not tired?" or "Are you sure you're not tired?" The implication when you ask this
is that you suspect that the person is tired. This same inquiry phrase would apply to asking if someone is
hungry, thirsty, or had some other kind of need. In Moroccan Arabic this is equivalent to a question like

foine L dy.

? This is a participle form (past) because the question word is the subject of the sentence.
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Page in Taifi's Cona|ugati0n Causative Verb

Dictionary (ex: 3" m.s./future)
A
B
£
English Translation of the Dialogue
My Aunt has Returned
Me + Aunt [maternal], are you okay? I haven't seen you for a long time.
[lit: A long time that I haven't ever seen you.]
My aunt 5 I've been traveling a little.
Me 3 Where have you been??
My aunt : I've been to Rabat, Asfi, Fez.
Me g Who did you stay with? [lit: At whose place or chez qui did you
stay?]
My aunt : I stayed with my children.
Me 5 Are you tired? [lit: So you're not tired? or Are you sure you're not
tired?]
My aunt - I'm very tired.
Me 3 What made you tired?
My aunt ; The road [way or trip] made me tired. It's long!
Me : Sit/stay now to get some rest.
My aunt : Thank-you [to a woman].
3 Some Tamazight proverbs® using causative verbs

You should understand the words, grammar, and structure of the proverb; learn its
meaning; learn appropriate situations in which to use it; and memorize it. Your teacher
or a language helper can explain the meanings.

* The verb & has many translations depending on the context. It generally means "to pass by" or "to
visit," but it can be translated in this sentence "Where have you been?" or "Where did you go?" In the next
questlon it can be translated "At whose place did you stay?" or "To whose place did you go?"

* Proverbs A through D are taken from Proverbes Berbéres by Fernand Bentolila, 1993, L'Harmattan—
Awal. The translation and explanation of the proverbs given here are my English trans[atlons of what
Bentolila originally said in French. The following are the page numbers from where the proverbs and
explanations were taken: A, p. 119 (#13); B, p. 118 (#4); C, p. 121 (#24); D, p. 123 (#37). Anything in
brackets are my additions.
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Just one horse doesn't stir up | B RO 05 ey U A

the dust. A R Tk

Just one person doesn't have as much power as several together. Compare to the French:
"Strength through unity."

Man is like a baby goat: As TUET A--L‘-‘—l al A I o> B

soon as he nurses, that makes .70,-.\ 9 S o )JLLul 8] uailal
him grow horns.

[lit: Man is like a baby goat: As soon as he sucks milk, he makes his horns bigger. ]
When someone nice becomes mean and aggressive, you say about him

O i )_"1\;__” "he has grown horns,"” which frequently happens when
someone gets rich.

ow <.

One seed spoils [makes rotten] Ll Ty 8C—’A—;w—'-“l Gt 0% C
the pomegranate.
Compare the dialectical Moroccan Arabic: gs_)l S C—A ENRTIN 8aal 4 :C’P
"Only one fish spoils the basket." Compare the French "It takes just one mangy sheep to
infect the flock."

We had him come in, CLI_.ﬂj;ua! LRI
he made us go out.
[The French illustrates well the causative verbs:| Nous l'avons fait entrer, il nous a fait

sortir. Compare to the French proverb "Dépends un pendard, il te pendra," that is,
"Release a scoundrel from hanging and he'll hang you."

% The proverb is originally listed by Bentolila as having a shedda on the _» , but many regions don't use
the shedda. Remember that this is a major type of regional variation,

7 Some regions say (2955 This feminine plural comes from the masculine singular Zﬁ)j . Taifi lists
this under "5 (p. 680) and says to see "SK" on page 628, although he doesn't list the feminine form there.
The complete forms are: U] (m.s.) and Os=+—37 (m.pl); and <l ldys (fs)and 2235 (fpl).
Depending on the region, the feminine form is the normal usage and the masculine refers to "big horns," or
the masculine form is the normal usage and the feminine form refers to "little horns."

® Taifi lists this verb without a shedda. Remember that this is a major type of regional variation. It is not

that one way is right and the other wrong. Both are used in different places and sometimes in the same
place.
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Abrid 3, Lesson 23 23 w33 2yl

Supplementary Material Lesson 23
(to be used at the end of lesson 23)

Extended listening exercises. Use the tape and the following texts. You will hear the
same story two different times. First, it will be in the form of independent sentences,
and then as a narrative. Listen especially for the reciprocal verbs and how they are
conjugated. Circle each reciprocal verb and describe its conjugation.

Adapted from the University of Wisconsin course, pages 33 to 34

The speakers are from (ilpe iy (Ayt 'Ayyash) and U Sy (Ayt
Myill). There may be some variations to what you learned in class.

j B &t and 8 3;9.34 episode 1: Two strangers meet on the way to the
market. Independent sentences.

These sentences are called independent because each sentence contains all the
parts needed for its interpretation; it does not depend on preceding context, as do
sentences that are linked together in connected discourse, such as narrative, or a
conversation,

The sentences describe what occurs in the first episode of the 2=} ) and

5 e story. Briefly, it is this: ? e g , @ young man from Jilie Gy :
is walking to 0 el B9 Along the road he meets a stranger, Ay, They greet
each other (The verb for "greet" is e;‘—u .)- They ask each other where they are going
(The verb for "ask" is Jlas .), and since A%y , too, 1s going to el B— | they

go together (The verb meaning to accompany someone is ()3« .). They find out what
tribe the other is from.

As 3 )< 3 readseach sentence, you may follow along in the book if you
wish, or just listen. After each sentence there is a slight pause to allow you to repeat the
sentence.

At Gete g AT oAl s n iy g
B3y a2y 2
A R 35w Al 3

Bhes o Al WLl g
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"EILAGE Sl lh) 33 2N Jly s
"Aad Gyt 8hem ol 6

AT Gyt e shf WH AT 0y 1) g
A G e M) 2 3hew O] 8
A5 2 30k Ml s

3

»

LST il Foshe w0

- o

AT Uasle TS a3

2. 24 and 53;939 episode 1: Narrative.

Now B8 i)—"‘- & recounts a narrative based on the same episode. Notice how
the connected discourse differs from the independent sentences. As you listen, you may
follow along in the text if you wish. Afier you have heard the narrative, you will hear the

actual dialogue between 23 ) and ® e 5 , and see some of the scenes on slides.
[We will skip the dialogue, since it doesn't have any reciprocal verbs.]

comldlnTe AT Getu g At d Al s le s iy
"N 53" 8T en ll) A 63 e Bes 2y
G o3 len D) il Apla 27 4T S Y

Do A Gyt 5 T 1) L ek ey vy

2 ~

' This form is the present continuous form plus the "you (m.s.)" conjugation prefixes and suffixes.

el = 3 4+ agd 4 3 , "Where are you going?" or more literally "Where are you arriving to?"
? The present continuous tense indicator here can be pronounced either = or — with a shedda. Taifi
lists both on page 362. The speaker here and throughout all the texts in lesson 23 uses a shedda. Since,
however, both are acceptable and sometimes the shedda is quite subtle, we've chosen not to use it with this
tense indicator.

> There are many variations to this word. The original Wisconsin course lists this word as "zg," but with the

" 1t

"g" being pronounced as a "y" sound, as is clearly the case here.
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(ST dilne 15 OB Gl UltaSUT 3G 0

Nk —

el S - Y <

e

LS Ute Tl aty

English Translations
Independent sentences

Bouazza found Zaid on the road to [lit: of] Suq Lhad.

Zaid greeted Bouazza.

Bouazza greeted Zaid.

Zaid and Bouazza greeted each other.

Zaid asked Bouazza, saying to him, "Where are you going?" [lit: Zaid asked
Bouazza, he said to him, "Where are you arriving to?"]

Bouazza said to him, "Suq Lhad."

Zaid, too [lit: him too], wanted to go to Suq Lhad.

Bouazza went with/accompanied Zaid to Suq Lhad.

Bouazza and Zaid ask each other.

Bouazza is of the 'Ayyash (tribe). [lit: Bouazza of the 'Ayyash that he is.]
Zaid, he's of the Myill (tribe). [lit: Zaid, him, of the Myill that he is.]

Narrative

Bouazza found Zaid on the road to [lit: of] Suq Lhad. They greeted each other,

and Zaid asked Bouazza from where he came. Bouazza said to him, "From Midelt."
Zaid also asked him where he was going [lit: arriving to], and Bouazza said to him "Sugq
Lhad." Zaid, too, he wanted to go to Suq Lhad. Zaid went with/accompanied Bouazza,
asking each other where they were from [lit: from where they were]. Bouazza is of the
'Ayyash (tribe) [lit: Bouazza of the 'Ayyash that he is]; Zaid, he's from the Myill (tribe)
[lit: Zaid, him, of the Myill that he is.].

Sentence transformation. Change the independent sentences and the

narrative so that they occur between two women, ! Aa and §aaS,

Independent Sentences
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A1

Narrative
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4. Text with reciprocal verbs. Listen and repeat, and answer the questions at
the end of the text. Use the tape and the text that follows. List the reciprocal verbs,
and find them in Taifi's dictionary. What page are they on?

Adapted from the University of Wisconsin course, tape TZ1.001.009, side A

Text 7
The subject of Muslim holidays

. T e]’ a,l .j..e ’I

" ds - . .JS &! - o!f o.! 5;’:\— 4'Ol_w)’ri e & olf O.l 5 Fi ..JLA!
° w 6 o ¢ o - . T ' . = & s 0 “F e YT O~
.\__.i.a_i l_"l . (J_“_i J\:\_y_‘ BN L}...HJLA/! O 2 ) uJL_.;_a_tJ
e Taglpa agatl Sl ¢ QHAT st Ly oo BT

e E Tl ghatey o it LN b BT

FPPOC: RO U JNCETEIC Y

N Wi T U i T Sy I WP e S R N WP

G gia o Had caglea agell 3 Gl aed sl

40T is OX + &7, literally "that they (m.) are.” The % in the verb "to be" is pronounced like a $.

* This word can be pronounced either » 1 or o1 .
® This comes from eu O A= The ¢ assimilates into the J to form J .

7 This comes from -3« 5 2221 Some dialects pronounce the 0. ‘
® There are many regional variations concerning the structures of prepositions of spatial (and in this case
temporal) relationships. What we learned (See page 25 of the Abrid 3 Student Book.) was that to say

"behind/after something" you simply put: noun + 2355  However, some dialects, like the one here,
insert an O between the preposition and the noun.

® Taifi's dictionary lists this verb on page 54. There are two possible pronunciations for the simple
imperative: J4=5 or 3. The sentence here means "The big holiday then follows it." The =3 in the
middle of the verb is the masculine direct object pronoun "it." The final 2 is the "d" of direction. And the
-+ is added for pronunciation.
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R e S IE S T E TP

Oshie) oaletne S cgia g 0s¥ss Ooma 5l 3 ]

oo O T DT coilag 03y il LSS
R
Page in Taifi's Conjugation Reciprocal Verb
Dictionary (ex: 3" m.s./future)
A
B

Questions on Text 7

fony aa u_’i_“leA/! 5| PN RV “31 1

e

= -

fdlled ablal e g s ) 2
_6\1 ° L‘I .31..’ ~! " o Z @ ‘.’S ‘4-—:,

O e LSl 3

\"\-GI ‘;1 c‘):\&’i .\_\_a_]“ i ;L'—‘.... cul,_\f;_‘n@l .A.\.a_‘” - l_“"i
35 5]

' Even though this is the correct formula and the speaker clearly says this pronunciation in the vocabulary
section, both here and in the questions he seems to pronounce this word a\—“—w .

""'Both 3] "idd"and 2] "id" are valid variations.
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% wid 0o e o! [3 Y &~ e o!
?ULJJ ‘ r . - *J ‘ 12 L

wh oo ¢

by g S (55 et ST

AT el d gia RS L

Sagdoart et & 8. olB93 L

A Al cafalale 0 Yl AU Gy & gl tnn

P RV S W S

SS altald & 3. €53 L

e 08 dISELT code ) olalat T e ]

o °© T o -E & @

£
o

125 jsati”
13 s o . . A é "

The construction is "verb in the present continuous tense + 1 + ‘;AJ-,M ." The s drops out
before the present continuous tense indicator.
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New Vocabulary Found in Text 7

Nouns

a Muslim (m.s.) a;‘—u\—ii

Muslims (m.pl.) Oy

e

(a Muslim (f:s.) - 1)

( Muslims (f.pl.) YV SR )

the world Cupig 3

religious feast, holiday ]

feasts, holidays Aya

Islam S

sheep (s.) sacrificed for :L’I;.‘—’—j
the holidays (the & ids)

sheep (pl.) sacrificed Opla s

for the holidays
the Prophet gf;‘
day sl

Verbs'*
to celebrate 2\ ,: PR ﬁ,‘ e
a holiday
15_ s - -

tobehappy g o= g -

to celebrate

to follow e &’

to be born 17YM d\J

to forgive C\-A;w:’ Q—A—w
to forgive CM CLQ;“;A
each other

to visit s 184

tomakec‘ ceo o B C‘ cvo -
each other happy

" The verbs here are listed first in their simple imperative form, then in their continuous imperative form
(which the tape calls the "iterative"). The forms here are imperatives (commands), but we've listed the
English as the infinitive. There is no Tamazight equivalent to the English infinitive.

* Taifi's dictionary lists the continuous imperative as ¢! -85 | which is also the continuous imperative
given in this tape series on Tape 8, Side 2, new vocabulary found in Text 6, page 4. Regional variations

affect even the form used for the continuous imperative.

' This verb is listed in Taifi's dictionary on page 54 under the heading "DFR." The verb can also be

(0523 or) os80 %,

'” Some dialects always add the 2 of direction to this use of the verb. Others don't.

'® The tape here clearly says AT as the simple imperative, and this is what Taifi's dictionary lists also.

However, there are those who say just & and & is the more grammatically consistent form which fits
the rules to form other tenses which are based on the simple imperative. For this reason we have chosen it.
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heart, hearts

enemy, enemies

gift, present

gifts, presents

Nouns
OsY s Js

Oslale | Pate

e

Particles — Expressions

like

all

al

J<
19 o 5s W
after o2 or e

Arabic expression said after the Prophet's name or A 1w 5 ale &) Aha
the word "the Prophet."
May God pray on him.

Literally this phrase reads "May God pray on/over him and protect/save." But literalness
can't be used here. Muslims aren't asking God to pray. The meaning is "May God bless
him and protect/save him." Hans Wehr's dictionary translates the phrase as "God bless

him and grant him salvation."

o lall anl the "small feast/holiday"

The "small feast" occurs at the end of the month of

Ramadan.

the "big feast/holiday"

the feast/holiday of the sacrifices

the feast of the Prophet Mohammed's birthday

"% In addition there are other regional variations (mentioned in Taifi's dictionary on page 54 and pages 119-

120); e85 5783 gpd 83
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English Translation of Text 7 and the Questions

Text
Muslim Holidays

Berbers are Muslims [lit: Berbers Muslims that they are]. Like Muslims in the
whole world, Berbers celebrate and rejoice in the holidays of Islam. There is the "small
holiday," and there is the "big holiday," and there is the "holiday of the birth." The
"small holiday" is (always) after Ramadan. The "big holiday" then follows it. The
"holiday of the birth" then follows it.

On the "big holiday" people slaughter animals [lit: sacrificial animals for the
¢id]. They also call it [lit: say for it] the holiday of the sacrifices. As for the "holiday of
the birth," people rejoice in the day in which was born the Prophet Mohammed, may God
bless him and save him. On all these holidays people's hearts rejoice, enemies forgive

each other, people visit at other people's places, and they make each other happy with
presents.

Questions

| Are Berbers Muslims or not? [lit: Is it Muslims that Berbers are or not?]
Yes, Berbers are Muslims [lit: Yes, Berbers Muslims that they are. ].

2. Do they rejoice in the holidays of Islam?
Yes, they rejoice in the holidays of Islam.

3. What are the holidays of Islam?
There is the "small holiday," and there is the "big holiday," and there is the
"holiday of the birth."

4. When is (habitually) the "small holiday?"
The "small holiday" is (habitually) after Ramadan.

5. What do people do on the "big holiday?"
They slaughter sacrifices [lit: sacrificial animals for the £ id].

6. What do people do on the "holiday of the birth?"
They rejoice in the day in which the Prophet Mohammed was born, may God
bless him and save him.

7 What do people do on all the holidays?

They rejoice, enemies forgive each other, people visit at other people's places, and
they make each other happy with presents.
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Abrid 3, Lesson 24 24 3 3 3,0

Supplementary Material Lesson 24
(to be used at the end of lesson 24)

1. Text with passive verbs. List the passive verbs and find them in Taifi's
dictionary. What page are they on?

Text is taken from the Torah, Genesis 17:10-14

OR) DT T gl [l Uipe o 00 Jistutl ]

il 4

i PR R Y RO R U i Y PO B R FOX

‘e 0 “E

ol W T W TE 3 . W, Ve “e . }:' w ™ & .
= Do U0t OB a5l S 13y Pala )

Lali o il sy &) %5l 0A53 ) aeala]

)

A “w & “£ . )“ . » w, . el wea ‘e . 2 e:. o,
u\Sl dﬁ ?_1_5| u.ﬁ_._m u\S! l_lj Ul—..’)H'J‘ O LﬁJi_'l
R ““ 5 T R ST R S v -
S ulsrl 1_1_3 Y Su_\_“:lA] | u\_u‘s‘s O 4Xr ey ) Jatwax

O vmes B8] e (usdid e el =) Wy Yy Tl LG

wa w, Y T v £ W @ o w . . o) w, e -
OsJls=) Wy Olo st 00 ) oeS) oy LB D4

s d) AT e olatuet) Wy aht RASTIAS O

i =3 b o ‘e .
! What we have learned in this course is that oK = 0151 + ). However, some other dialects
& T . . i -’ - . . . . :‘ .
instead insert a > afterthe (51 causingthe (S| toremainasitis. The () is there because S isa
participle, which is required after relative pronoun 1 .

% We learned the word for "behind" or "after" as A op paa , but some dialects use . When

used with pronouns it combines with indirect object pronouns and thus follows the sl 3 pattern given on
page 25 of the Abrid 3 Student Book.

? This passive form "to be circumcised" is not found in Taifi's dictionary. The active, however, is listed:
(). Taifi lists this active form as having both an active and passive meaning. This is true for many
verbs. Thus, it is important to ask people if they use a particular passive form. Some regions will, while
others will use an active form with a passive meaning. Thus, passive use and what particular form is used
is a significant regional variation.

* Taifi defines this word as "a particle ... in a story used to punctuate a series of successive actions; 'and,’
'then,' 'so.' " This word is difficult for the non-native speaker to know when and how to use. It's by
observation, listening, and practice that you'll learn when and how to use it.

3 The construction ¥ ... Y can mean "both ... and" orina negative context "neither ... nor."
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O= ) o WO aST o) iy o Lalb o 8Ta 3 gl
C‘Jl G, - uox ‘f_) u c. @, ‘"5;"‘,:"1 ,“-a]/_,.‘ri w ul_,"!

S IR P S U

Vocabulary:
covenant — Lals
active form: to circumcise — Ot )
a piece of skin (which comes off); e W
a general term which can be used in many contexts
sign — O Hlilad
to respect, to keep, to observe; —d Ly ﬂ

n"n.n

Note the use of the preposition "g

and the feminine direct object pronoun "tt."
Both elements are essential to this expression.’®
lit: to take it in someone/something

people, as in "a people group" (from Arabic) — & gua
Page in Taifi's Conjugation Passive Verb
Dictionary (ex: 3rd masc. sing.)

(Some of the verbs are not listed in Taifi's dictionary in their passive form. Even if you
can't find the passive form in the dictionary, put the page number of the active form.)

® Taifi lists two other examples of this expression in the first column of page 776 "WY."
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English Translation of the Text

[God is speaking with Abraham [lit: our lord Abraham].] This is my covenant
[lit: Here this (it is) that is my covenant] (that) you (m.pl.) shall [lit: are going’ to] keep,
between me and you (m.pl.) and between your (m.s.) offspring after you [lit: from
behind you]: every male among you shall [lit: is going to] be circumcised. You (m.pl.)
shall be circumcised and cut the skin from your body, and this shall be a sign of the
covenant between me and you (m.pl.). He who is among you, every male who is eight
days of age, throughout [lit: in] your generations, shall be circumcised [lit: Will be
circumcised he who is among you, every male (who) is the son of eight days in your
(m.pl.) generations.]; both he who is from your (m.s.) offspring and he who is bought
with money, even though he is the son of a foreigner who isn't from your (m.s.) offspring.
He who is born in your (m.s.) house or he who is bought with your money shall be
circumcised. And this shall be my covenant in your (m.pl.) body, an eternal covenant.
As for the male who is not circumeised, (who) has a foreskin [lit: being with foreskin],
that soul shall be cut off from his people because he [lit: she, since "soul" is feminine]

hasn't kept my covenant.

" This construction here "are going to" can have the same nuance of the imperative as in the English: "You
shall do this."
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Answers to Review Exercises Lesson 1

| Pagel18 1|

.L..\GA..\Jc‘/<n.~\ L_E"" I N B .O:Ji)ﬁl_..! g.‘l‘_wm;.} A

PLNPTL b AU LA N O Silata
.L"\anjja‘&“\ elw.,aa'\/"\ _u:\n‘)_._\_} EU\_“.A;;
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{ Page 19

Answers will vary for each individual.
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Answers to Review Exercises Lesson 2
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Answers will vary for each individual.
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' High speed Internet connection: DSL.
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Answers to Supplementary Material Lesson 3
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Answers to Review Exercises Lesson 3
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Answers will vary for each individual.
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Answers will vary for each individual.
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Answers to Review Exercises Lesson 5
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* denotes that the () is optional.
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There may be more than one correct answer. * denotes that the O is optional.
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LPage 43

There may be more than one correct answer. * denotes that the O is optional.
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Answers to Review Exercises Lesson 7
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Answers to Review Exercises Lesson 8
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Answers to Review Exercises Lesson 9
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Answers to Review Exercises Lesson 10
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Answers will vary for each individual.
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| Page 85 .ﬂ
There may be more than one right answer.
55 Wl o) B O AT Gliug oy A
R LG S e e T ST RN 0
o5 O gY Wy ) F
LR HsA Tl Gl lyy G
Answers to Review Exercises Lesson 11
| Page 91 1 |
long form short form
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Answers will vary for each individual.
Answers to Supplementary Material Lesson 14
] Pages 108 to 109 1 |
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Answers to Review Exercises Lesson 15

] Page 115 1 |
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He said "It's short." He replied "Shorten it."*

[Literally: He said to him "It's short." He said to him "Shorten it." Remember that the
phrase "to him" in these types of proverbs often isn't translated. It's simply part of the
expression and is best left out: "He said."]

You use this proverb when someone doesn't understand at all what you told him and
gives an irrelevant answer.

Answers to Review Exercises Lesson 16

| Page 120 A |
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% The original phrase means literally "You (m.pl.) are sharp." When applied to people, the meaning is "You
are clever." However, the opposite for the meaning for people is not "You are blunt" (The word "blunt" or
"dull" would apply to a knife, not a person.), but rather "You are heavy." Compare to English: "thick."

? The translation and explanation of the proverb given here are my English translations of what Bentolila
originally said in French. Anything in brackets are my additions.
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Answers to Supplementary Material Lesson 17

feminine plural
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masculine plural
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Answers to Review Exercises Lesson 17

The choice of negative imperative will vary for each individual.
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Answers to Supplementary Material Lesson 18
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Answers to Review Exercises Lesson 18
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There may be more than one correct answer.
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Answers to Supplementary Material Lesson 20
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Answers to Review Exercises Lesson 20
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Answers to Supplementary Material Lesson 22

Page 152 1 ]

Note that not all verbs which start with (% are causative and that not all causative verbs
have a clear causal meaning.

o ¥ 0 WatE

p. 565 RD 2ms (subjunctive)®* e g Vil A
B 382 LS 1S (subjunctive) Chw—‘—s” AT .B
p. 565 RD 3ms (subjunctive) 3 ] .C
P 506 NW 1fs (2 verbs together) SCJ—\—OU &y .D
| Page154 2]
p. 755 WAL (sing. past participle)® iy o j—“-’ )
p. 755 WiL 3ms (past) s |
p. 160 GNF 2fs (subjunctive) AP _9—<~—m—:'i

(also p. 622 SGNF)

* Differentiating between the subjunctive and two verbs together isn't really important, since they both have
the same form.

a Talﬁ s form does not have a shedda on the simple imperative. These are simply regional variations.
® This is a participle because a question word is the subject of the verb.
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Answers to Supplementary Material Lesson 23

| Pages 1580159 3|

Independent Sentences

AT Gsle g oapnl & 1as W< dig
Y WL REr SN RN “‘\'.,\"1 3

oS 3 13 eLL.m..a..:”’"“ 4

ML Al Gl ¢ getS 1WA Jls s
W TR R S Lt T

N B POV S 1 SR e T B ¢ S SN It S

BB S5%a e 1¥a 5 gu® g™ 3
JAs 0 e’ Jllac 9
B gile @l WS

A BT Uaee @l @l 13 g
Narrative

e OBl AT B5Te g a0 @ 1Al ew’S g
"Gdhe )" S GBS 135 45 S seS 13A Jla
N R ROV R QP o i SO i R I D SO B PP
N B P Bl | G y& jﬁ'i byl g I
¢ fs: ;5’1' (}‘ wd.f Qﬂ‘i as . & ﬂ.& ‘ﬁjLA 7., u.’“ o [ -:)fi os
&.“4 ‘_5| Jaa'a uJ““T ) IR T I

Ty Eata BT,

192



p. 644 SMh

p. 123 FRA

3mpl (pres. cont.)

(sentence connection)

3mp1 (pres. cont.)
(sentence connection)

Answers to Supplementary Material Lesson 24

p. 820 ZYN'"
p. 820 ZYN
p. 820 ZYN
p. 178 g
p.820 ZYN
p.591 RW"
p. 178 ¢
p.39 BYP

® Taifi's form does not have a shedda on the continuous imperative. These are simply regional variations.
? In this case the two verbs together express a future idea "is going to...."

3mS (2 verbs together)’

2mpl (future)

3ms (future)

(sing. past participle)'’

3ms (future)

(sing. past participle)

(sing. past participle)

3fs (future)"

' The passive form isn't listed. The active form is listed as having an active and passive meaning.

""" The word =5 takes a participle after it.
12 Note that even the verb for "to buy" Q—w is a derived verb form, a causative form. The passive form

here is made by using the causative form as its base.

'* The passive form isn't listed.

"* The conjugation is feminine because the word for "soul," the subject of the verb, is feminine.

'* The form that Taifi lists is slightly different, having "ty" instead of "ttu." This is a common type of
regional variation. Also, the vowels are slightly different: "tyi" instead of "ttua." This type of vowel
difference is also common.
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